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» There are 20 Multiple Choice Questions in this Question Booklet.
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» Four options (A,B,C,D) are given for each question. You have to select
the most suitable option.
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» There are 40 Multiple Choice Questions in this Question Booklet.
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> All questions are compulsory. Each question carries 1 mark.
eft wor A €1 w3s oy it stfewrear 1 st i 8

> No marks will be deducted for wrong answer.
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> Four options (A,B,C,D) are given for each question. You have to select the
most suitable option.
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SIRAUS SIfSID 3rofiellol Ud UfSIgIul ufyuq , it [FHIST U%T U | (2023-24) Page 1 of 7



C. =T AT a1 T D. el ITH & HT
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A. 1556 - T B. 1558 - sIgHaTaTs
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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
ANNUAL EXAM
2023-24
CLASS - Xl
ENGLISH CORE
MODEL QUESTION PAPER
Time:1 hrs Marks-40

GENERAL INSTRUCTIONS:

Total number of questions is 40.

Each question carries 1 mark.

Four options are given.

Students are expected to select the most appropriate answer.
All the questions are compulsory.

No marks will be deducted for wrong answer.

MULTIPLE CHOICE QUESTIONS
Read the passage given below and answer the questions from 1-5.

The concept of renewable energy has gained significant attention in the recent years
as a way to reduce our dependence on fossil fuels and combat climate change. Solar,
Wind, hydroelectric, geothermal and biomass are examples of renewable energy
sources. These sources are considered renewable because they can replenish naturally,
unlike fossil fuels, which take millions of years to form and are finite.

One of the main advantages of renewable energy is that it is environment friendly.
Renewable energy sources do not produce greenhouse gases, which contribute to
positive climate change. They also do not produce harmful air pollutants like Sulphur
dioxide and nitrogen oxides.

Another advantage of renewable energy is that it can provide reliable and stable
source of energy. For example, hydroelectric plants can operate for long period of
time without interaction and solar panels can generate electricity even on cloudy days.
Also, renewable energy sources are becoming more affordable as technology
improves and economies of scales are achieved.

1. Solar, Wind, hydroelectric, geothermal and biomass are examples of
Sources.
a. Renewable energy
b. Fossil Fuels
c. Non-Renewable energy
d. None of these
2. What take millions of years to form and are finite?
Renewable energy sources
Fossil Fuels
Non-Renewable energy sources
None of these

oo oe
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3. Which of the following is/are harmful air pollutant?
a. Oxygen
b. Nitrogen
c. Hydrogen oxide
d. Sulphur dioxide

4. What is one of the greatest advantages of renewable energy sources?

a. That it leads to climate change

b. It leads to the depletion of various resources
c. Itisenvironment friendly

d. None of the above

5. Which of the following mean the same as ‘generate’ from the passage?

a. Recreate
b. Produce
c. Restore
d. Capture
6. Abbreviations are freely used in
a. Notice writing
b. Letter writing
c. Note-making
d. Article writing
7. The summary of a passage contains_ .
a. main idea
b. glossary
c. word-meanings
d. format
8. How would you address the recipient of an formal letter?
a. Reverend Sir/Madam
b. My dear
c. Dear Sir/ Madam
d. Hello Sir/Madam
9. Letters to the Editor are written for-
a. Newspaper

b. School
c. College
d. Club

10. What should not be included in report writing?
a. Personal comments
b. Data collected
c. Information by witness
d. None of the above
11. In report writing, narration of the event is always done in:
a. Present form
b. Simple future form
c. Immediate past form
d. Present continuous form
12. What should the first paragraph of an article be all about?
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Brief introduction of the topic
Conclusion
Consequences
d. Statistics
13. What can be written in ‘Conclusions’ in Article writing?
a. Suggestions
b. Remedial Measures
c. Order
d. Both (a) and (b)
14. Chose the grammatically correct sentence for the given jumbled sentence
Island/is/the/Sri Lanka/in/an/Indian Ocean
a. Anisland is in Sri Lanka the Indian Ocean.
b. Sri Lanka is an Island in the Indian Ocean.
c. Inthe Indian Ocean is Sri Lanka an island.
d. Sri Lanka is the island in an Indian Ocean.
15. Chose the grammatically correct sentence for the given jumbled sentence
World/is/greatest/in/world/the/dramatist/the Shakespeare
a. Shakespeare is the greatest dramatist in the world.
b. Dramatist greatest the is Shakespeare in the world.
c. Inthe world is greatest the dramatist is the Shakespeare.
d. The Shakespeare is greatest dramatist in the world.
16. Bread and butter our daily breakfast.
a. Are
b. Were
c. lIs
d. Has
17. 1 fell when | the road.
a. Cross
b. Crossed
c. Iscrossing
d. Was crossing
18. You leave now if you wish.
May
Might
Shall
Will
19. you swim?
Can
May
Might
. shall
20. The ‘big girl’ in the poem, ‘A Photograph’ refers to-
a. The poet
b. Poet’s mother
c. The eldest cousin of the poet

© T
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21.

22.

23.

24,

25.

26.

27.

28.

29.

d. The youngest of the girls
Which month of the year has been mentioned on the poem, The Laburnum Top?
a. October
b. August
c. September
d. November
In the poem, ‘The Voice of the Rain’, which of the following is personified?
a. Earth
b. Sky
c. Music
d. Rain
One can find one’s lost childhood in:
a. analbum
b. aremote place
c. the face of a child
d. heaven
According to the poem, ‘Father to Son’, who speak like strangers?
a. Father and son
b. Husband and wife
c. Sister and brother
d. Father and daughter
Why did the author’s grandmother accompany to his school?
a. Because it was attached to the temple
b. Because she was worried about the author
c. Because there were many dogs on the way
d. Because she had no work to do
The grandmother of Khushwant Singh believed that the education should be-
a. ldea based
b. Agriculture based
c. Religion based
d. Computer based
How many years did Gordon Cook and his wife spend in honing their seafaring skills?
a. 10 years
b. 12 years
c. 16 years
d. 20 years
Who joined Gordon Cook in Cape Town to tackle, the Southern Indian Ocean?
a. Larry Vigil
b. Herb Seigler
c. Captain James Cook
d. Both (a) and (b)
The Tomb of King Tut was discovered by-
a. Zahi Hawass
b. Howard Carter
c. John Marshall
d. Robert Hamilton
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30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

The place where Egyptian Kings were buried is known as-
a. Graveyard of kings

b. Cemetery of Pharaohs

c. Valley of Pharaohs

d. Valley of Kings

Gangadharpant Gaitonde was a Professor of

a. English
b. Political Science
c. History

d. Economics
Where did the author go to complete the Kora?
a. China
b. Ravu
c. Mount Kailas
d. Lake Mansarovar
What did Lhamo give the author as farewell present?
a. Sheepskin coat
b. Goatskin coat
c. Cowskin coat
d. Tigerskin coat
How many times did the author visit Mrs. Dorling’s house?
a. Once
b. Twice
c. Thrice
d. Never

‘The Summer of the Beautiful White Horse’ is a short story of two boys.

a. Assyrian
b. Armenian
c. African
d. American
Who was the true owner of the beautiful white horse?
a. Mourad
b. Aram
c. Uncle Khosrove
d. John Byro
Who has been telling the fortune of Mrs. Pearson?
a. Mrs. Fitzgerald
b. George Pearson
c. Doris Pearson
d. Cyril Pearson
Andrew Manson was by profession.
a. Teacher
b. Lawyer
c. Doctor
d. Mason
The King lost his crown under the arch because-
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The arch was built crooked
The arch was built too low
The arch was built too high
d. None of these
40. According to the poem, ‘The Tale of Melon City’, who was finally hanged?
a. The fool
b. The king
c. The architect
d. The minister

o T
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JHARKHAND COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, RANCHI
ANNUAL EXAMINATION
2023-2024

Class-XI
ENGLISH ELECTIVE
MODEL QUESTION PAPER
MULTIPLE CHOICE QUESTIONS
Time-1 Hr Marks:40

GENERAL INSTRUCTIONS:

Total number of questions is 40.

Each question carries 1 mark.

Four options are given.

Students are expected to select the most appropriate answer.
All the questions are compulsory.

No marks will be deducted for wrong answer.

Read the following passage carefully and answer question nos. 1-5.

Nobody comes to Novastoshnah except on business, and the only people who have regular
business there are the seals. They come in the summer months by hundreds and hundreds of
thousands out of the cold grey sea, for Novastoshnah Beach has the finest accommodation for
seals of any place in the world.

Sea Catch knew that, and every spring would swim from whatever place he happened to be
in-would swim like a torpedo boat straight for Novastoshnah, and spend a month fighting
with his companions for a good place on the rocks as close to the sea as possible. Sea Catch
was fifteen years old, a huge grey fur- seal with almost a mane on his shoulders, and long,
wicked dog teeth. He was scarred all over with the marks of savage fights, but he was always
ready for just one to fight more.

Yet Sea Catch never chased a beaten seal, for that was against the Rules of the Beach. He
only wanted room by the sea for his nursery; but as there were forty or fifty thousand other
seals hunting for the same thing each spring, the whistling, bellowing, roaring, and blowing
on the beach were something frightful.

From a little hill called Hutchinson’s Hill, you could look over three and a half miles of
ground covered with fighting seals; the surf was dotted all over with the heads of seals
hurrying to land and begin their share of the fighting. They fought in the breakers, they
fought in the sand, and they fought on the smooth-worn basalt rocks of the nurseries; for they
were just as stupid and unaccommodating as men.

1.Why do seals come to Novastoshnah?
a.To mate

b. To rest

c. To find the best accommodation for seals
d.To hunt for food
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2.How does Sea Catch reach Novastoshnah every spring?
a.He walks on land

b. He takes a boat

c. He swims like a torpedo boat

d. He flies

3.What is Sea Catch’s physical appearance like?
a.Small and weak
b. Large and grey with a mane and long teeth
c. Black and sleek
d.White and fluffy
4.How does Sea Catch behave towards defeated seals?
a. He chases them away
b. He leaves them alone
c. He kills them
d. He fights them more
5.How do the seals behave towards each other on Novastoshnah Beach?

a. They live in harmony
b. They are peaceful and accommodating
c. They are aggressive and unaccommodating
d.They are shy and hide.
Read the following poem carefully and answer guestion nos. 6-8.
Weavers, weaving at break of day,

Why do you weave a garment so gay?

Blue as the wing of a bluebird wild,

We weave the robes of a new-born child.

Weavers, weaving at fall of night,
Why do you weave a garment so bright?
Like the plumes of a peacock, purple and green,
We weave the marriage-veils of a queen.

Weavers, weaving solemn and still,
What do you weave in the moonlight chill?
White as a feather and white as a cloud,
We weave a dead man’s funeral shroud.

6. What do the weavers weave in the chilly moonlight?
a. a garment light as a feather

b. a garment meant to cover a dead man

c. a garment to keep away the chill

d. a garment to wrap a newborn child in

7. The three stages of life mentioned in the poem are

a. infancy, childhood and senility

b. infancy, youth and death

c. infancy, adolescence, middle age

d. childhood, adulthood and senility
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8. Whom does the poet address in the poem?
a.weavers

b.children

c.queens

d.all the above

9.How should an article be ended?

a. thanking the audience

b. greeting the audience

c. with a suitable conclusion

d. all of the above

10. What should be the title of the article writing?
a. eye-catchy

b. explain the topic in a few words

c. should be short and relevant

d. all of the above

11. The story “The Rocking-horse Winner” starts with
a. Paul

b. a beautiful woman

c. Oscar

d. Bassett

12. Who is Sherlock Holmes?
a. teacher

b. doctor

c. detective

d. lawyer

13. The poem, “Mother Tongue” is written by .
a. John Keats

b. William Wordsworth

c. William Blake

d. Padma Sachdev

14. The word ‘Price’ in the poem, “Telephone Conversation” refers to:
a. rent of the house

b. rent of the car

c. cost of the shoes

d. cost of the bag

15. Where did Pappachi and Mammachi live?
a. Ayemenen

b. Munnar

c. Central Square

d. Seemapuri

16. In a lecture S. Chandrasekhar discusses different approaches of scientists and
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a. poets

b. engineers
c. doctors
d. holy men

17.The author of “My Watch” visited more than watchmakers.

a. twelve
b. fifteen
c. eleven
d. ten

18. The author’s watch was showing November in the month of
a. September

b. December

c. October

d. May

19. Bertrand Russell wants to get rebirth with special skills and
a. power
b. magic
c. wealth
d. peace

20. The author’s three passions are compared with great
a. mountains

b. water

c. winds

d. fire

21. Where can the roots of India’s tradition be traced?
a. To the rich oral literature of the tribes.

b. To the rich written literature of the tribes.

c. Both (a) and (b).

d. None of the above

22. The play ‘Arms and the Man’ ends in a flurry of
a. gunfire

b. engagements

c. divorce

d. thefts

23. What did Barin die of?
a. high fever

b. accident

c. drowning

d. starving
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24. Which of the following is a character of the story, “A Pair of Mustachios”?
a. Seth Ramanand

b. Choudhary Chotu Ram

c. lona

d. Both(a) and (b)

25. Where does ‘his loud sharp call’ seem to come from in “The Peacock™?
a. His loud sharp call seems to come from everywhere.

b. His loud sharp call seems to come from nowhere.

c. His loud sharp call seems to come from the peepal tree.

d. His loud sharp call seems to come from the house.

26. What is the theme of the poem, “Let Me Not to the Marriage of True Minds™?
a. friendship

b. true love

C. nature

d. knighthood

27. Whose childhood has been referred to in the poem, “Coming”?
a. poet’s childhood

b. reader’s childhood

c. childhood of poet’s father

d. none of the above

28. How many children did the beautiful woman have? (The Rocking-horse Winner)
a. one

b. two

c. three

d. four

29. What type of writing is “The Adventure of the Three Garridebs™?
a. a script

b. a novel

c. a short story

d. a poem

30. Who is ‘she’ in the poem, “Mother Tongue”?
a. shah

b. poet

c. stem

d. poet’s mother tongue

31. In “The World is too Much With Us” the phrase ‘out of time’ refers to:

a. no sense to enjoy the nature
b. out of music

c. song without tune

d. none of these
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32. The word ‘tar’ in “Telephone Conversation” symbolizes society.
a. South African

b. Indian

c. French

d. German

33. The author of “Patterns of Creativity” is a noted:
a. astrophysicist

b. chemist

c. doctor

d. painter

34. The author’s watch was running hours ahead.
a. three hours

b. four hours

c. six hours

d. one hour

35. At first the author gave his watch to a to get it repeated.
a. jeweller

b. mechanic

c. technician

d. all of the above

36. Bertrand Russell has written numerous popular works on:
a. philosophy

b. politics

c. education

d. all of the above

37. The third passion of the author is to remove:

a. pain and suffering

b. the king

C. debt

d. debris

38. What does the Petkoff family brag about?

a. their crest

b. their basement

c. their horses

d. their library

39.Santiago fishes with the boy called .

a. Manolin

b. Samuel

c. Thomas

d. Jerry

40.When the novel opens, how long has it been since Santiago last caught a fish?
a.. 40 days

b. 84 days

c. 87 days

d. 120 days
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TTAd IR & AU PIs 3 Tl He S |

1. SI § SMYUR SHISAl & T farat 82
How many numbers of base Sl units are there?
(A)5
(B) 10
7
(D)9
2. 1B Iy SRISR gial &
1 light year is equal to :

(A) 9.46 x 10” m
(B) 9.46 x 10" cm
(C)9.46 x 10" m

(D) 9.46 x 10 m

3. o RRI® &1 fardflg 4@ 3

The dimensional formula of Gravitational constant is
(A) [M'L'T?]
(B) [M'L*T]
(OMLT?)

(D) IM'L°T]

4. TH et W1 R TET HRA A6 AfGd $Y I & AU THYAM AT v, 3R S FHE JHT &
foTT THIAM AT v, F Y T g1 T AT T BRI
A person travelling on a straight line moves with a uniform velocity v for some time and
with uniform velocity v, for the next equal time. The average velocity is given by

_ 2171172
(8) vy = 2222
(B) va» = vlzﬂ
(C) Vay = VUU%UZ

_ iy
(D) voy = 22
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5. B0 & YAUTH & MY W, @R fsa grm
(A) SMDHaH
(B) 1dH
(C) LT
(D)g
At the top of the trajectory of the particle, the acceleration is
(A) maximum
(B) minimum
(C) zero
(D) g
6. PIvfig I A HT fa=m foradp sfe™ ©
(A)TTHR TY & WG DI 3R
(B) 3id: AT d! 3R
(C) sTed Bwar I 3R
(D) gui @ 4R BT 3R

The direction of the angular velocity vector is along
(A) tangent to the circular path

(B) the inward radius

(C) the outward radius

(D) the axis of rotation

7. VAW ST UAUUY B :
(A) BTETRSIET
(B) YAy
(C) et @
(D) T
The trajectory of the projectile is a :
(A) Hyperbola
(B) Parabola
(C) Straight line
(D) Circle

8. Q]E_:;r qiROMe ¢4 aTal S{9HE IiGRN &t gAdH W@T%
(A)
(B) I
(B) AR
(D) IR I 3ffereh

Minimum number of unequal vectors which can give zero resultant are :

(A) Two
(B) Three
(C) Four
(D) More than four
9. gHAA H faxmaR ¥ fedl fie R oM arar 9T s

(A) I8 ¥ SR DI 3R A
(B) dg ¥ - &I AR AHH

SIRIIUS 9lfSID 3fofielol ud ufersiur ufyug , il [FifSeT U%sT Ut | (2023-24) Page 2 of 10



(C) 3RIfud s >t e
(D)

The frictional force acting on a body at rest in plane
(A) Normal to the surface upwards

(B) normal to the surface downwards

(C) Along the direction of the applied force

(D) zero

10. 41 SR 5 U1 gooAM g ) fUs R U & §a T ST g1 Il Bob U BT &R0l 2
m/s 28, UK fis &1 @Rl g

Two bodies of masses 4 kg and 5 kg are acted upon by the same force. If the acceleration of lighter body is 2
m/s?, the acceleration of heavier body is
(A) 1 m/s?
(B) 1.2 m/s?
(C) 1.6 m/s?
(D) 1.8 m/s?
11. Tt e &1 SoqwM S SU R A a1 90 3R e # S0 ARUT & U & SRI6R §
(A) TEATHYU STAM
(B) aggd I 19 G|
(C) SHTdRD FHHH
(D) SIS GHHM
The mass of a body which is equal to the ratio of the force acting on a body to the acceleration produced in
the body is

(A) The gravitational mass
(B) The electromagnetic mass
(C) The internal mass

(D) The inertial mass

12. BRI Ugd dgd 3R el &I Wb Tl &1 &
(A) deI
(B) BT
(C)
(D) Hfhay

What is the linear momentum of the gun and bullet before firing:

(A) Large
(B) Small
(C) Zero
(D) Maximum
13. forar ud ufafesar
(A) T B fifs R &1 #3dl §
(B) U &I fa=n & 9HH & #d §
(C) T IR DI I B &
(D) G 3eT-3eT Al R &1 Fvd &
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Action and reaction :
(A) Act on the same body
(B) are equal act in the same direction
(C) Cancel each other
(D) Act on two different bodies
14. 100fHUT ST H Th U 10 Wex F o I RaT 81 S9! 7fas ot & i §
A body of mass 100 kg falls from a height of 10 m. Its increase in kinetic energy is
(A) 9800 J
(B) 1000 J
(C) 5000
(D) 30001

15, Frofafad § @ S9-91 SRRfEM 9a 82

(A) TE@THYU §d

(B) IoFCRLTeT 5

(€) Fewlg 5

(D) INUT &

Which of the following is non-conservative force?
(A) Gravitational Force

(B) Electrostatic Force

(C) Magnetic Force

(D) Force of Friction

16. Uep fUs ORI TR 50 N &1 ¢ TRIRIT T47 §, I 9 & 1Y 60° BT PHI0T S §U 10 Hier B gt W
farenfird faam oram 8 1 5t g7 fobam wan i g
(A) 200 J
(B) 100 J
(©) 300
(D) 250 J
A body, acted upon by a force of 50 N is displaced through a distance 10 meter in a direction
making an angle of 60° with the force. The work done by the force will be
(A) 200 J
(B) 100 J
(C)300J
(D) 250 J
17. T o0 et 30 UeRiH & SR Fufafed # 3 forw Rigid &1 Suah ot 82
(A) SOUHT T TR
(B) STl T TRETTT
(C) XA TIfA 7 TR&or
(D) IO 7T BT TR&T

Which of the following principle is used by a ballet dancer during her performance?
(A) Conservation of mass

(B) Conservation of energy

(C) Conservation of linear momentum

(D) Conservation of angular momentum
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18. forsit fifs &1 wre@ Simguf 39 W AR T&f HraT |
(A) 31&f T et Sififa=ame
(B) %odM o faaRUl ot Upfa
(C) PIvitg 3T
(D) O 1 4
The moment of inertia of a body does not depend upon its:
(A) Different orientation of axis
(B) Nature of distribution of mass
(C) Angular velocity
(D) Axis of rotation

19. Tt fifs R P e a1t wet 3l (e ) bt uff SrgRey
(A) <gHIq
(B) §ct
Q)T
(D) TSt St
Torque acting on a body is the rotational analogue of:
(A) Mass
(B) Force
(C) Velocity
(D) Kinetic energy
20. 'g' &1 019 ol Y 8l AT 82
(A) & &1 1 & RIR HaTg
(B) G2t & 318 AT o SRTER TS
(C) TTERTS gt @t 3meft s & SRR
(D) Yd 3R YT ¥&T & o9 &1 foig

The value of ‘g’ becomes zero at :

(A) The height equal to the radius of earth

(B) The depth equal to half the diameter of the earth
(C) The depth equal to half the radius of the earth
(D) The point in between the pole and the equator

21, e Ryl SHolf sifimad ghfl-
(A) Yl B HI® W
B) YA H HE R
(€) 3FdH
(D) el i

Gravitational potential energy will be maximum at
(A) Surface of earth

(B) centre of earth

(C) Infinity

(D) anywhere

22. TATHR FH&fl H Gedt & IUUE B SMadadid AR 8] Hal 8
(A) IIUE BT GHAH IR
(B) SHDI HET I AT R
(C) el b GoIHM 3R B iR

SIRIIUS 9lfSID 3fofielol ud ufersiur ufyug , il [FifSeT U%sT Ut | (2023-24) Page 5 of 10




(D) SUD! D& B! 3T 7 Al IUUT BT SdHM 3R 7§ W

The time period of an earth satellite in circular orbit is independent of
(a) The mass of satellite

(b) Radius of its orbit

(c) Both the mass and radius of the orbit

(d) Neither the mass of the satellite nor the radius of its orbit

23. T &9 §U AR & Ui SHTS ST TUS TATR Sl o

The elastic energy stored per unit volume in a stretched wire is:
(A) % (Stress/ Y)

(B) % (Stress %/ Y)

(C) % (Stress */ Y %)

(D) % (Stress/ Y ?)

24. 3HTS YR BT AFHA & dR & [T geA aTd JaATaTd Pl Bl oIl §:

The breaking stress for a wire of unit cross-section is called:
(A) Yield point (GRTHd fdig)

(B) Elastic fatigue (UATRS %IT%[)

(C) Tensile strength (H:I:f—ﬂm?ﬁ)

(D) Young’s modulus (?j‘T‘IUTm

25. YTl :
(A) ATUHH Fg4 T G B HH 8 olldt &
(B) AToH ¥ gf & I1Y aR uerd sgar 8
(C) ITIH H HH & 1Y 1) Pt dgat &
(D) AT & §fG & 1Y R Uerd & & growd g

The viscosity of :

(A) Gases decreases with increase in temperature
(B) Liquids increases with increase in temperature
(C) Gases increases with decrease in temperature
(D) Liquids decreases with increase in temperature

26. mﬁﬁﬂh SIS I SW IS Jobdl g1 T T pT 3P 31 PR H e far sy, af Teft
(A) SR Y T2
(B) SR T T&I 5gm
(C) SR el I
(D) T8 Y PIS T8l

Water can rise up to the height h in a capillary tube. If the tube is cut to half its size, the water in the
tube will :

(A) Overflow

(B) Not overflow

(C) Not rise

(D) None of these

SIRIIUS 9lfSID 3fofielol ud ufersiur ufyug , il [FifSeT U%sT Ut | (2023-24) Page 6 of 10



27. 60 x 107> m? 3IUR BIC EAHA BT U MATBR THT 60 kg F HR BT TGRT &l ¢ | TH W fara
ARG
A circular pillar of area of cross-section 60 x 10~ m? supports Weight of 60 kg. What is the pressure
exerted on the pillar:
(A) 9.8 x 10° Nm™
(B) 9.8 x 10* Nm™
(C) 10.8 x 10° Nm™
(D) 10.8 x 10* Nm™

28. S UMt bl 0°C T 4°C b TTH T SITdT 8, Y Ut b1 SR

(A) TEI /AT ©
(B) UCAT &
(C) Jearg

(D) STH A HIS &I

When water is heated from 0°C to 4°C, the volume of water :
(A) Remains the same

(B) Decreases

(C) Increases

(D) None of these

29. XRGe, ST 3R & fIAR & o &1 STd &
Ratio of coefficient of linear, volume and area expansion is :
(A)1:3:2
B)2:1:3
(©2:2:3
(D)3:2:1

30. SN BT YId! (I o SGURTN &1 3R o STl 62
(A) 3MaR® STl
(B) SSAT
(C) ald
(D) ATIHT

The zeroth law of thermodynamics leads to the concept of :
(A) Internal energy

(B) Heat content

(C) Pressure

(D) Temperature

31. Fofafea & @ & 1 fawed AR & g3 &1 quiH oRdl 82

Which of the following option is describe Mayer’s formula?
(A)Cp+Cv=R
(B)Cv-Cp=R
(CO)CvxCp=R
(D)Cp—-Cv=R

32. SN BT yH fgg = mn g

First law of thermodynamics is given by :

(A) dQ =du + pdv
(B) dQ =du x pdv
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(C) dQ = (du + du)p
(D) dQ = pu + dv

33. 3fUp3f HI 3T TS S ©
(A) ATUHH & A & SIHATIUTID
(B) FRU& ATUE & e SFIHATUIAS
(C) TR0 AgHH | WA

(D) TARTE ATUET & B AT

Average kinetic energy of molecules is :

(A) Directly proportional to square root of temperature
(B) Directly proportional to absolute temperature

(C) Independent of absolute temperature

(D) Inversely proportional absolute temperature

34. T T 3G Y &1 TRE TIER P! o
(A) F9 g1 iR Ay aroH R
(8) g Tre 3R 3= duHH W)
(C) I 19 3R Y aroHH R
(D) I T1F 3R I dTTHH W

A gas behaves as on ideal gas at :

(A) Low pressure and low temperature
(B) Low pressure and high temperature
(C) High pressure and low temperature
(D) High pressure and high temperature

35, fRgfiRad & ¥ DI T =M T TR BHID Gl BT Ul SRl g ?

Which of the following function represent a simple harmonic oscillation?

(A) sin ot — cos 2wt
(B) sin ot + sin2 wt
(C) sin ot —sin2 wt
(D) sin ot — cos wt

36. SEER YT I X1 U S [T &l ST 8. d9 Pl PI 3A1dd b1 H........ BT
W I
(B) Bt
(@k:K]
(D) 3TH § PIs Aol

A child swinging on a wing in sitting position stands up. Then the time period of the swing will :
(A) Increase

(B) Decrease

(C) Remain same

(D) None of these

37. T AT 2 km T A1 7 B 1 S9! RUfAS St v 81 3fe R HY 10 km T e oid ot 394
TR fRUfat Sl g
A long spring is stretched by 2 km. Its potential energy is V. If the spring is stretched by 10 Km the potential
energy stored in it will be :
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(A) V/25
(B) V/5
(C)5V
(D) 25V

38. TG T G TR B ge............ g
(A) THATUT Ufdhar
(B) SIS Ufcha
(C) TsTaRke ufgrar
(D) MBI fehar

The phenomenon of sound propagation is air is :
(A) Isothermal process

(B) Adiabatic process

(C) Isobaric process

(D) Isochoric process

39. dt g8 S ® wuw g, fgdia gmifAe SR diR gl Pt smgfal &1 3rurd &

In a stretched string, the frequencies of first harmonic, second
harmonic and third harmonic are in ratio of :

(A)1:3:5 B)1:2:4
1:2:3 (D)1:5:8

40. FofafEad 7 T o I T 319, R SR T4 & A1edd I U1 81 Gball 872
(A) STIR AT N
(B) faggd gre i axil
(C) Tifes
EGHEER

Which of the following waves can be transmitted through solids, liquids and gases ?
(A) Transverse waves

(B) Electromagnetic waves

(C) Mechanical waves

(D) Longitudinal waves
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Answer Key of model set

Physics XI
QNo ANS QNo ANS QNo ANS QNo ANS
1 C 11 D 21 C 31 D
2 D 12 C 22 A 32 A
3 C 13 D 23 B 33 B
4 B 14 A 24 C 34 B
5 D 15 D 25 D 35 D
6 D 16 D 26 B 36 B
7 B 17 D 27 A 37 D
8 B 18 C 28 B 38 B
9 D 19 B 29 A 39 C
10 C 20 B 30 D 40 D
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SIRIAUS ISP 3HolRielIol Ud Ufdigiur ufeee , i<t
aifias - udten
5T : 2023-2024

HAISTT U1 UsT
95 famcdlr ust
DEI - XI fererRT -331RI6T 91151 A1 "l UuTics : 40

191t UGl b IR siforari 3 1
DT 40 U 3 |

o URID U%I b fo1u v 3idb forerifea 3 |

URID U%I & AR fdacy 1631 518 3 | Ad] faacu o1 =16t HIiforl |

31cId 3R O f1U BIE 3idb 6181 BIC STIual |

Q1. 1260 3 fbetol A1l 3D HISIG 82

How many significant figures are present in 1260 ?

(A)4 (B)3 (©)2 (D)1

Q2. A3I® CH,COOH I FcTIourcl 351 8:

The empirical formula of compound CH,COOH is :

(ACHO,  (B)CHO, (©)CHO,  (D)CHO
Q3.3 3MMUd URA 1.5 M NaCl @I 300 ml 3, Al 31U 4.5 M NaCl &b fdbdol ml ol
ADA 8?

If you have 300 ml of 1.5 M NaCl , how many ml of 4.5 M NaCl can you make ?

(A)100 ml (B) 200 ml (C) 300 ml (D) 400 ml

Q4. forFotfetRad 3t 3 feb1di U3 b 11 AR 3iferD Sloft?
Which of the following will have largest number of atoms ?
(A)l g Au (B)1g Na (O)1gLi (D) 1g(l,
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AN

Q5. ,;Br* i sciaciol, Uiciel 3iIR RIgiol bl AT Dl SIVIGIT D3 |
Calculate the number of electrons , protons and neutrons in ,Br™ .

(A)35, 45,35 (B) 35,35, 45

(C)35,36,45 (D) 36,35, 45

Q6. 10 m/s T a1 A SIfcIdHIal 0.1 kg GoRIdIol bl U 9iG bl AZeIGER! ar=ll Blafl ?
What will be the wavelength of a ball of mass 0.1 kg moving with a velocity of 10 m/s ?
(A) 6.626 x 10 m (B) 6.626 x 10" m

(C) 6.626 x 10°’m (D) 6.626 x 10™* m

Q7. BIsSIolol U d Al - YFIDIRI FUdCH D €93 811 3 [G1S Sol arctl
il & guft 8

(A) cirsdiol vt (B) b5 Juft
(C) 91412 Auft (D) urQIol SIufi

The series of lines in the hydrogen spectrum which appear in the visible region of

electromagnetic spectrum is :

(A) Lyman series (B) Pfund series

(C) Balmer series (D) Paschen series

Q8. forgotfctlRa i A Dlol 2l TdicH AT DeId D Pifdei=r = oI Ul
DAL 8 ?

(A) A qACHIAI  (B) dlotofler aaica e

(C) qabII qdiced I (D) UKhUl Jaics AT

Which of the following quantum number defines the three dimensional shape of orbital ?

(A) Principal Quantum number (B) Azimuthal Quantum number

(C) Magnetic Quantum number (D) Spin Quantum number
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Q9. IR TAICH IT n = 3 A Al DIl bl Pet AcAT T Blefl 82

What is the total number of orbitals associated with the principal quantum number n =3 ?
(A)0 (B) 3 €6 D)9

Q10. fotFotfc1Rac 3 A Dot 2t Sdioficl CH, b Arer AA-3RIGH 82

Which of the following species is isoelectronic with CH, ?
(A) Na (B) Ar (C) Ne (D) Mg

Q11.F, O, N 3II2 Cl, 3 A [ cded Dl SBUIIcHD Scidciol cifoe] Uodledl a3 3ifeid

N

&?

Out of F, O, N and Cl, which element have highest negative electron gain enthalpy ?
(A)F (B) O (C)N (D) Cl

Q12. fotForfe1ae 9 2 fdb1 Tdloficl DI DI A IST i1 AU BICT & ?
Mg, Mg ", Al, Al’'

Which of the following species have the largest and the smallest size ?
Mg , Mg2+ JAL, ALY

(A) Mg and Al (B) Mg and AI’

(C) Al and Mg (D) Al and Mg”’

Q13. d -scifc o dcdi DI dI&l seidgiiold eI &:

The general outer electronic configuration of d — block element is :

(A) (n-Df'™ (n-1)d”" ns’ (B) ns'”

(C) (n-1)d"""ns'"? (D) ns’np"°

Q14. BeCl, I {&¢Id 3t 8:

The dipole moment of BeCl, is :

(A1 (B)2 3 (D)o

Ql15. O, I 3E-DIfE 3:
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The bond order of O, is :
(A1 (B) 2 ©)3 (D)0

Q16. STeT & 31U DI DR 3 :

(A) Spctl (B) T-3PDIe
©)#SI5s (D) agepeTchi
The shape of water molecule is :

(A) see saw (B) T - shape
(C) Bent (D) Tetrahedral

Q17. CH, 3 C @I ADIVI T3 ?

What is the hybridization of C in CH, ?

(A) sp (B) sp’

(C) sp’ (D) sp’d

Q18.278ft Aral bt vedctl Iarchl el - s[aen i aldl 3:
(A) SDIS (B) 9l

(C)<0 (D) 31ft Acal &b fe1e fdreal aldl 8
The enthalpies of all elements in their standard states are :
(A) unity (B) zero

©)<o0 (D) different for each element

Q19. Ud Uchd &P At ufsf3erferil 91 8lol & fore , 18 Bafiias 3 :

For the process to occur under isothermal condition , the correct condition is :

(A)q=0 (B) Aq=0 (C) AT=0 (D)T=0
Q20. 3ifdifep=Ir 2C1 (g) ---------- >Cl, (g) ; d e, AH 3R AS & RIos a9 8
For the reaction, 2Cl (g) ---------- > Cl, (g) ; the signs of AH and AS are

respectively ?
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(A) +ve & -ve (B) -ve & -ve (C)+ve & +ve
(D) -ve & +ve

Q21. f3eR Gara sz arustrel uz sifdfepen &bt Taa:uafdiar oI AelGs 3:
The criteria for spontaneity of a reaction at constant pressure and temperature is :
(A) AH>0 (B)AS<0

(C)AG<0 (D) AG>0

Q22.H=U+PV AN, U GIATAI3:

(A) ATdHIfHD ol (B) forea1 3>ail

(C) el 3ol (D) 3R 3ol

In the relation, H=U + PV , U represents :

(A) universal energy (B) gibbs energy

(C) thermal energy (D) internal energy

Q23. CaCO, () -------m===- > CaO (s) + CO, (g) , SURIKD 3ifdHichaII b feTe ATF=aIazen
3eRI® (K, ) DI w=ISId Blol :

CaCoO; (s) --------- > CaO (s) + CO,(g) , the expression for the equilibrium constant
(K,) for the above reaction will be :

VK - [ CaCO3] BYK - [ cO2]

(A)K = [CaO] (B)K.= [CaC03]

oK, = 122 D)K,=[CO

( ) c [CaCO3] ( ) c_[ 2]

Q24. H,0 bl Agoddl 31ocT BIot :

the conjugate acid of H,O will be:

(A)H' (B)OH™ (C) H,0" (D) none of these
Q25. qul fd=iISTet dleld 88, 0.0001 M HCI fafcriel a1 P S @2 :
Assuming complete dissociation, calculate P" of the 0.0001 M HCI solution :

(A)1 (B) 2 ©)3 (D) 4
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Q26. 2H,(g) + CO(g) <=======> CH,OH (g) 3If3IfcHeI Pb ATIael U2 H,
SIS ol I a=IT U9IId BIeI:

(A) sifdrfcpen sifdrpRal &bl 3R 3EeRIf¥d el
(B) AMRIAIAI U2 DIS U olal Sloll

(C) 3ifd1fcp=II 3curcl i 3MI2 eIt aloit

(D) Soldi A PDIS olal

Describe the effect of addition of H, on the equilibrium of the reation:
2H,(g) + CO(g) <======> CH,0H (g)

(A) reaction will proceed in the direction of reactants

(B) no effect on equilibrium

(C) reaction will proceed in the direction of products
(D) none of these

Q27. H,S0, 3 S i sifafiasaur - I a=I 2 2
What is oxidation state of S in H,SO, ?

(A)O (B) 2

(C) 4 (D) 6

Q28. 501d1 A Dol Al FUteftst sRIsIo[uIde! Udfel o18f Goridl & : Which of the

following species does not show disproportionation tendency:

(A) ClO™ (B) ClO,” (C) CIO;” (D) ClO,”
Q29. (CH,),CCl @I IUPAC ollH &:

(A) AARI RIS dIASS (B) 2 - TellRl -2- fFremserditor

(C) cIsidrenscl diArss (D) 2 - f3rersel -2- aelRIsIcol

The ITUPAC name of (CH,),CCl is :

(A) tert. Butyl bromide (B) 2- Chloro — 2- methyl propane

(C) trimethyl bromide (D) 2 — Methyl — 2 chlorobutane
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Q30. distlel (CH, ) 3 Biea (o) 3R urs (I1) dis bl Pet A1 glsfl

The total number of sigma (&) and pi (II) bond in benzene ( C,H, ) will be
(A) 6&6 (B) 12&6
©) 12&3 (D) 3&3

Q31. H,C=0 3 C I DI BIoI:
The hybridization of C in H,C=0O will be :

(A) sp (B) sp’
(C) sp’ (D) sp’d

Q32.fotFoifc13ad 31 21 Dol oIl b FU I PRI olal DIl ?
Which of the following will not acts as nucleophile ?

(A) NH, (B) CI'

(©)Cr (D) H,0

Q33. CH,CH,0CH,CH, 3II? CH,0CH,CH,CH, 3i UIU SiIol dIci Z¥dollcdAD
JHIARIAAI DI UDR 3:

(A) SRACIl  AAAAAAL (B) f3erfel  AsATa—Iadn
(C) foparcaras 391 Jdraaadr (D) HEATARIAAT

The type of structural isomerism found in CH,CH,OCH,CH; and CH,0OCH,CH,CH; is:

(A) chain isomerism (B) positional isomerism

(C) functional isomerism (D) metamerism

Q34. q ufcrzenfu fS1o8 BIsSISIol d AN 3 Scidciol-3Mbul 29I d U I doffpd
oldl fopar I Al &

The substitutents that can not be classified as electron — withdrawing groups relative to

hydrogen 1is : (A) -NO, (B) -R
O X (D) -CN

Q35.CH,CH=CH, + HBr -------—---—- > A : CATE

(A) 2 — SliFAIUIUGT (B) 1 — SAUIGT
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(C) 3 — slidAIUol (D) UlUel

CH,CH=CH, + HBr --—-----—--- > A ; A IS
(A) 2- Bromopropane (B) 1 — Bromopropane
(C) 3 — Bromopropane (D) Propane

Q36. 333 K UR RAIID Actbe 311 ol ACRIRD 31Fcl bl Iufderfe 3 werrsol
SIcT O RiISTol 2 UTd 81l &

The addition of water to ethyne in presence of mercuric sulphate and dilute sulphuric acid
at 333K gives :

(A) CH,CH, (B) CH,CHO

(C) CH,OCH, (D) CH,=CH,

Q37 .fp2t oft foraprer & DG AT usidid ol & f1u smagd 9Kt 28

(A) KA (B) ACRI 1 $cidglol Pl AUl fdzelofidur (C) et foria
(D) $oldl 3 it

The necessary conditions for any system to be aromatic are :
(A) Planarity (B) Complete delocalization of pi electron in ring
(C) Huckel rule (D) all of these

[Sh S
Q38. CH,Cl + 2Na +CICH, S———> CH,CH, + 2NaCl ;331 3If3ifopaIr Y 5

25U 3 SiToll SiIdl &

(A) DIcd 3fdIfp=m (B) fdpifractiasaur sifdifcpen
(C) iIsc -ebrue 3ifdifcpar (D) gt sifdrfcpen
dry ether ) .
CH,CI + 2Na + CICH; ——> CH,CH; + 2NaCl ; this reaction is known as :
(A) Kolbes reaction (B) Decarboxylation reaction
(C) Friedel -craft reaction (D) Wurtz reaction

Q39. forFarfeii¥aa 3t dlol ARG sidel 3 scIacTol fdzenust ol 361321 o8] 3 :
(A) URI0ID Ui (B) 3IoJolIG Ui
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(C) SIfer>IIodIol (D) 3I=¥1dol

Which of the following is not an example of electron displacement effect in covalent bond

(A) Inductive effect (B) Resonance effect

(C) Hyperconjugation (D) Distillation

Q40. Aig H,SO, ® IufdeIfel 3 velloiic Pl fofsiciidbuI ool U2 UTH BIdl & :
conc.H2504
CH,CH,OH ——————> ?
443K

The dehydration of ethanol in presence of conc. H,SO, gives :

conc.H2504
_ 9
443K

(A) CH, (B) C,H, (©) CeH, (D) C,Hg

CH,CH,0H
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SIRIAUS IIf&IPD 3ofitlTol Ud Ufdrgiur ufewe, il
(2023- 2024)

ufergol usst ust
Model Question Paper

(MCQ BASED QUESTIONS)

(a'gﬁar«q"rzr ITERT 92)

Class - 11 Subject — Mathematics F.M.-40 Time — 1Hour
(PeT—11) (fasa—rfore) (qeti ®—40) (THa—1 =<
INSTRUCTIONS / fAd=r

1. There are 40 Multiple Choice Questions in this Part.
I AT H o 40 TAGAT U9 2 |
2. All questions are compulsory. Each question carries 1 mark.

Y go i & SR <7 AR B UR-d U BT A 1 (b FuiRd 2

3. Four options are given for each question, choose one of the correct options.

ISP U P IR fdbey AU TV &, 399 | U el fddbed & =+ HIY |

4. There is no negative marking for any wrong answer.

Td SR & foTU BIS 3 =8l hIc ST |

1. If Ais the set of vowels of English alphabet, then the total number of proper
subsets of A is
e S IUETT & TRl BT Tz A 7, I A & Jaref  Iudgadl Bl R
RECHE
(a) 32 (b) 25 (c) 30 (d) 31

2. Which of the following is incorrect:

f=faRad § 9 @9 Tad
(@a)(AuB) #A"UB’ (b)(ANB) +A'nB’
(c)ANnA" =¢ (dANB+BNA
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In the given Venn diagram, find set (A — B) U (B — A)
& U 9 g | ¥ (A — B) U (B — A) & 9d @

(@) {3,4,7} (b) {3,4,5,6,7}
(c){2,3,4,5,6,7,8} (d) {2,3,4,7,8)

4. Set-builder form of the interval [=2,7] is
RIS [—2,7] BT OT-UHIHIT &Y B

@{x:xeR-2<x<7} b){x:xeR-2<x<7}
{x:xeR-2<x<7} d{x:x€eR-2<x<7}

5. If(x+3,5) = (6,2x + y), then values of x and y are respectively
afe (x4 3,5) = (6,2x + y) @ x AR y BT 7 HAM &

(a) —3,11 (b) 3,1 (c)3,—1 (d) 2,1
. . 1 .
6. The domain of the function f(x) = 3 7 is
1 .
el = Dl YUTd
Fx) = g 71 0 B

(@) 3<x<3 (b)-3<x<3 ()-9<x<9 (d)-9<x<9
7. The range of the greatest integer function f(x) = [x] is

HEH QU B f(x) = [x] & )9 ©

(a) R (b) Z ()N (d){-1,0,1}
8. Radian measure of the angle 40°30’ is

BT 40°30" Bl ST AT B

(a) 9m/40 (b) m/40 (c) 2m/9 (d)m
9. The value of cos(—15m/4)

cos(—15m/4) 719 &

@) 3 b)— (0 02
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10.

11.

12.

13.

14.

15.

16.

17.

18.

Value of 2sin15°cos75° is

2sin15°cos75° &1 A9 &

2+/3 V3 2—J3
(@) = (b) 1 ()5 () =5~
1—-cos 24 . %\r
Trcos2A is equal to (TR &)
(a)tan A (b) cot A (c)tan(4/2) (d)cot(4/2)

(—=5i) (%i) is equal to (SRTER B)
(@) 0 + i (b)§+0i (c) 0 + 2i (d)§+0i

Argument of the complex numberz =1+1iis

gy AT z =1+ i BT PIUND 2

@ 7 (b) () m ()

Solution-set of the inequality —12 < 3x — 5 is
3BT —12 < 3x — 5 B FI—AG &
(@) (=,=7/3)  (b) (=,7/3)  (c)(7/3,) (d) (=7/3,)

If x is a real number and |x| < 3, then

afe x TH IRAdS AT § qAT x| < 3,74
(a) x =3 b)—3<x<3 ()x<-3 (d)—3<x <3

The value of 4C3 is equal to
“C, 1 A aRTER R
(a) 12 (b) 6 (c) 4 (d) 1

How many 2-digits number can be formed from the digits 1, 2 3 and 4 when
repetition of digits is not allowed?

Jh 1, 2, 3 3R 4 I FaN 2 JHT AW g9 o Ihdl 8, IS 3(hl Bl
geRIghT @1 SrgAf T B

(a) 12 (b) 6 (c) 4 (d) 1

16 16
If °C ="C 4,

afy 16Cr=16Cr+2?ﬁrEBTHT;[%\'

then the value of r is
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19.

20.

21.

22.

23.

24.

25.

26.

(a) 8 (b) 6 (c)O (d) 7

The number of terms in the expansion of {(1 + x)*}° is

{(1+x)*)° & fodR & Ui &1 e 8l

(a) 25 (b) 20 (c) 21 (d) 24

10
Value of Z 2" 10Cr is
r=0

10
z 2r 10C @1 w2
r=0

(a) 210 (b) 310 (c) 3 x 10! (d) o

If a;, = 3,a, = 3a,_1 + 2 foralln > 1, then a; is equal to

AT qy =3 FM I n>13 W a, =3a,_, + 2, A a; RER 8
(a) 33 (b) 27 (c) 33 (d) 35

If in a G.P., the 3" term is 24 and the 6™ term is 192, then 1% term is equal to

Ife fHe G.P &1 3df Ug 24 ® T 6df UG 192 T, A1 USel U a¥IeR 2

(a) 2 (b) 8 (c) 6 (d) 0

If A.M. of two numbers 3 and x (x > 0) is 15, then their G.M. is equal to
afe &7 Gl 3 3R x (x > 0) BT A.M. 15 &, dI 3961 G.M. SRR &
(a) 27 (b) 9 (c) 81 (d) 45

The slope of a line passing through the points (—3,2) and (1,4)

fagatt (—3,2) 3R (1,4) ¥ ToRA dTell T & &d &
(a) 1/2 (b) 2 (c) —1/2 (d) —2

The angle between thelines2x —y+3 =0and x +2y+3 =0is
R 2x—y+3=03Rx+2y+3=0 & 4= & PHIT B
(a) 90° (b) 60° (c) 45 (d) 30°

If the coordinates of the middle point of the portion of a line intercepted between
the coordinate axes is (3, 2), then the equation of the line will be

gfe feene el & de JdESd X1 & 91 & w2y fdg & Fewe (3,2) 8,

G BT GHIHROT I
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27.

28.

29.

30.

31.

32.

33.

(@) 2x +3y =12 (b)3x + 2y =12
(c)4x —3y =6 (d)5x — 2y =10

The distance of the point (3, —=5) from the line3x —4y — 26 =0 is

g (3,-5) P W 3x—4y—26=0A 0 &

(a) 3 (b) 3/25 (c)3/5 (d) 4/5

The radius of the circle x? + y2 + 8x + 10y —8 = 0 is

qd x> +y?+8x+10y—8=0% = 2

(a) 49 (b) V33 (c) 7 (d) none of these
For the parabola y? = —8x, the focus and length of latus rectum are respectively
(a)(2,0)and 8 (b) (—=2,0) and 2 (c) (—2,0)and 8 (d) (0,—2)and 8
WRITT y? = —8x ®T MY IR Afer Sfar &1 <iqrs HAeT: ©

(a) (2, 0) 3R 8 (b) (—2,0) 3R 2 (c) (=2,0)3R8 (d) (0,—2)3R8
The vertices of an ellipse are (5, 0) and its foci are (+4, 0). The equation of the
eliipse is

el <reigd & o (£5,0) Td 1MW (44, 0) | 39 g BT TR ©

2 2 2 2 2 2 2 2

@=+%=1 m>=+L=1 O=+X=1 (=+L=1
25 9 9 25 25 16 16 25
2 y2
The eccentricity of the hyperbola y e 1is
x2 yZ
NfTIRae 5 T 1% Sh=dl B
(a)4/3 (b) 3/4 (c)5 (d)5/3
The point (—1,—2,—3) lies in the
(a) First Octant (b) Second Octant
(c) Seventh Octant (d) Eight Octant
g (-1,-2,-3) _____#%
(a) T areef (b) fgar areerer
(c) AT T2 (d) 3r<H 3recTer

If the extremities of the diagonal of a square are (1,—2,3) and (2,—3,5), then
the length of the side is

I fedl ot & el & eR 95 (1,-2,3) 3R (2,—3,5) B, a1 4ol &I 18
&
(a) V6 (b) V3 (c) V5 (d) V7
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34. If f(x) = sin2x, then f'(1t/6) is equal to
afE f(x) = sin2x, ar f/(w/6) BT AF BN

(a) 0 (b) 1 (c) 1/2 (d) V3/2
»15_
35. lim ( ;_ 11> is (2)
(@) 0 (b) 15 (c) 14 (d) 1
COSXx
36. Derivative of — with respect to x is
+sinx
_ 1 1
(a) —(1 + sinx)? (b) ooy (c) P (d) none of these
Cosfx BT JTDBTT x b AU BT
1+sinx
_ 1 1 . .
(@) —=(1 +sinx)? (b) e (c) T (d) 398 & ®Ig T8

37. If the variance of a given data be 144, then standard deviation of that data will

be

(a) 20736 (b) 12 (c)o (d) none of these
Iy fodr o T ifhs T USRI 144 2 Al SUBT 9Fd ol SR

(a) 20736 (b) 12 (c)O (d) 398 & ®Ig T8

38. Inaleap year the probability of having 53 Sundays or 53 Monday is

TP o7 99 H 53 YfAIR T 53 AHIR B9 BT UTRibar 2

@) 2 (b) 2 (€)= ()2
@ 7 7 ¢ 7 7
39. The probability of getting exactly two tails in tossing a coin thrice is

el Rigd @1 3 IR IBTE W 3F dT IR T8 UM & Uddr @
(a) 3/8 (b) 3/4 (c) 1/8 (d) 3/2

40. The Probability of getting a total of 10 in a single throw of two dice is
ST UNY B T ATJ IS8T TR ANTHA 10 3 DI URyHdr 8

(a) 1/9 (b) 1/6 (c) 1/12 (d) 5/36
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Answer - Key

Class - 11 / 991 —11

Q.N. 1 2 3 4 5 6 7 8 9 10
Key d b b a C b b a C d
Q.N. 11 12 13 14 15 16 17 18 19 20
Key a d d d b c a d c b
QN. | 21 22 23 24 25 26 27 28 29 30
Key d C b a a a c C C a
Q.N. | 31 32 33 34 35 36 37 38 39 40
Key d C b b b C b b a C
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SIRIAUS IfSIP fofieNrotl ud ufdrgiur ufyerg , it

JiscI U1 Ul
(2023-24)
mer- 11 | forer=r- Sfia fersiret | WIRA- 1 del qutia- 40
> 2091 ussil b IR stforari 31
> A8l fapeu o1 =6l D3
>  UcIdD Ul & fo1e uab sicp forenifea 31
> Icid 3R & fo1u DI 3idp oIdl BbIc SIual|

1. siafeerart Ao & & et STt O 9eT IaTd F w9 § T 57

a. FIATESHIATH ST A
b.
C
d

TITAETAT TAT FATLAT
EINIEREERIPDIEEIER

. SULIRE g7

Which of the following is / are used as food supplement by space travelers?

a.
b.
c.

d.

Chlamydomonas and Volvox
Spirullina and Chlorella
Gelidium and Gracilaria

All of the above

2. ‘ArEEmrTEST e ¥ § R i gey A q907ar g2

a o op

AT HT FAH
FATATETZE T TRETRIEE
AT AT A
FAF AT qTSAT

Mycorrhiza is an association of which of the following?

a.
b.
c.

d.

Algae and Fungi
Bryophyte and Pteridophyte
Algae and Pinus

Fungi and Pinus

3. S ST FT HEH TSI FIEAH FIA 87

a.
b.
c.
d.

AT
STRCEIE
T
HIAEHT

The largest animal phyla are:
SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il [HISTT U%6T U | (2023-24)
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b.

C.

d.
4. 99 ® ¥ F:9 q 7 U wqaarh £ fEfore ag=me g2

Arthropod
Aschelminthes
Mammalia

Mollusca

a. =« ufr
b.
c
d

T F
T 9T AT

. SO 99T

Which of the following is the specific identification of a mammal-

a.

b.

C.
d.
5. AR F Hay § FAeifha Fuei § § R (FIF-01T ) T7 FI9 987 872

a o o p

Mammary glands
External Ear (Pinna)
Body hairs

All of the above

T T AT T 2

T g9 F forT STET SIS il TZ07 F § 7 FIAT 8l
UL ZIAT

SULIH § F FE Aol

Which of the following statement(s) is / are correct with respect to Pneumatophores?

a.

b.

C.

d.
6. ‘I eTsR FT AT fAe # | faree forw R Srar 82

a0 oo

They are modification of stem.
They help in getting Oxygen for Respiration.
Both of the above

None of the above.

T 9T gi=rat it e

ATETAT IT TIRIAT F 9 TgA HT HH
ST | AISTE o & Tg F HH
o<t q¥ foreT e ferfearst &1 o

The term ‘Venation’ is used to designate:

a.

b.

C.

d

Pattern of arrangement of leaves on the stem
Pattern of arrangement of leaves on branches

The arrangement of ovules within the ovary.

The arrangement of veins and the veinlets in the lamina of leaf.
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N

a o o oo

it & & #t9 a7 777 92t gafera g2

FEferft qom: Fam wor s e ofT sieq & & 1 UF & ST 2
ORI IO : 38T To7 e T =0T ((hae T97 3729) HISE 8il
T2 &7 AT Yewa 7 grar g

ITE Tt

Which of the following pair is correctly matched?

a.
b.
c.

d.

Bisexual flower: Flower having either Stamens or only Carpels.

Unisexual flower: Flower having both Stamens as well as Carpels.

Root develops from Radicle.

All of the above

8. TUHITFAZ

a.
b.
c.
d.

TeTeRrs 3 forre &
it 3 P &
T A

T # & A A

Stomata helps in

a.
b.
C.

d.

Regulation of Transpiration
Gaseous exchange
Both of the above

None of the above

9. uTeYl § HagAl a &1 f=HTor Fwfed § & -3 wear g?

a

b.
C.
d.

UiIeH HITAHTT AT o7
FTEFT TAT UTATSHFA
FTarg qoT for

TSR ST FATTH

The vascular system in plants is composed of which of the following?

a.
b.
c.

d.

Epidermal cells and Stomata
Cortex and pericycle
Cortex and Pith

Xylem and Phloem

10. FrfEers wravefi wferenTd, 3 § freht fafere 9= 87

a.
b.

RES
EEd
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c. gT

Cardiac muscles tissues are characteristic feature of:

d. SULE # HE ARl
a. Liver

b. Kidney

c. Heart

d. None of the above

11. TR 3w fAehreras g1 T 7197 we " Atea & g9 Fo #§ ¥ w22

a. HeTHT
b. =T
C. I fEreett

d. IUIREH A THN

Fluid mosaic model proposed by Singer and Nicolson is related to:

a. Vacuoles
b. Mitochondria
c. Cell membrane

d. None of the above

12. Tt qHTT 90 FT AT HITo10,

A | T EIECEED]
g | THTEATATE EIEAT]

c | T T UF FAT
D | T FAIR2I532

Choose the correctly matched pair

A | Plastid Storage material
B | Amyloplast Protein

C | Elaioplast Oil and Fats

D | Aleuroplast Carbohydrate

13. Trerze ay, e | fhad Wear g7

a. TR
b.
C. d4a1
d. ST A

Peptide bond is found to be present in
SIRIUS EID 3fofierol Bd uforgior ufdug , Il [Tt ueel Ut |
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b.
c.

d.

Carbohydrates
Protein

Fat

All of the above

14, 9 & & FI7 9T (FIF-F19 F) FI9 q87 87

et T JY0 Sa-Hed § TG99 AT AT S[Tar e 2l
.07 ST AL.UA.T FT AGATF T27 F A0 F A 7 Jra4v )
FIAST S ST § HEH STTEF ITAT ST arer Tei gl

. SO 99T

Which of the following statement(s) is /are correct?

a.
b.
c.

d.

RuBisCO is the most abundant protein in the whole biosphere.

DNA and RNA are termed as Genetic materials.
Collagen is most abundant protein in animal world.

All of the above

15. ‘wrosar 1 wior, e & B =3 § 7 Gy s . grar 87

a.
b.
c.

d.

a. R=arm
b.
c
d

STTRTIE
aferfe

. SE-FEAEE

Chiasmata formation takes place at which of the following stages of Meiosis?

Diplotene
Zygotene
Pachytene

Diakinesis

16. AT O & SIS, & a1 AT T 9718 & [T AT 872

a.

TE-Aele

b. ¥zre

c.
d.

IULIE a9T
IYLE | FIE Aol

The complex formed by a pair of synapsed homologous chromosome is called as

a.
b.

C.

Bivalent
Tetrad
All of the above
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d. None of the above

17. et & dag 9 T § § F19 97 (F9-504 97) FI9 Ge61 67

a. T TS & AT § 98T FaT g

b. =& sref-TET fAraTsI= & 919 & ST SATAT B

c. fosifEm & e, oAl & gt smeft w2 ST 8l
d. SUTrE s

Which of the following statement(s) is/are correct with respect to Meiosis?

a. It helps in formation of gametes.
b. Itis known as Reductional division.
c. During Meiosis, No. of chromosomes reduced to half.

d. All of the above.
18. 1 * fa@=o &1 qeer A9 ¥ & foFe 8

a. drua |

b. fru=. Il
C. TYUIH IMEI
d. SUO & S ARt

Splitting of water is associated with

a. PSI

b. PSII

c. Both of the above

d. None of the above
19. 991 § | &I9 97 F99 Gal 7al 87
a. fcad 9% w1 C: 9% o ATH T T T SAT4T 21
b. TF-T% = & Cy4 =k & ATH & T ST ATAT B
c. ‘aier aTOTERT, Cy el #it fafarear 21

d. Cg T ®, siiereTua s UiHE, FTad STI-A 12 T I ATt 8

Which of the following statement(s) is/are not correct?

a. Calvin cycle is also known as Cs cycle.

b. Hatch Slack cycle is also known as C4 cycle.

c. Kranz anatomy is characteristic feature of C4 plants.

d. In C4 plants, primary CO2 acceptor is Oxaloacetic acid (OAA).

20. T H, AT 1 IiEed, 7T =9 § e #9 § grar g7
SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il [FifseT U%s U |

(2023-24)

Page 6 of 14



a. @rEre

b. si-geraE

C. FATFI-EHNATET

d. aEwEEe

Oxygen in blood, is mainly transported as
a. Oxygen

b. Oxyhemoglobin

c. Carboxyhemoglobin

d. Bicarbonates

21, U FTHT A9 & S0, a1 1 ag 97 S5 o717 # i forar war g = {5 oifiw & arge et vy,

ATl &
a. IR R srgae

b. wwateh o s
C. YT A Faq

d. IS AFaq
Volume of air inspired or expired during normal respiration is called as
a. Inspiratory reserve volume
b. Expiratory reserve volume
c. Residual volume
d. Tidal volume
22. AT T T F g H T Rl AT FHIF TG1 Aol 52

a. TE IHATHAAAA SHIT T ZraT 2l
b. =&t sftae srafer simas ¢ o oAt i gt 2
C. TAIGT I AT T<h 0T & HigedTd HT FHgl 1T gl

d. == ‘TgHETEeH % AT 8 | ST St gl
Which of the following statement (s) is not correct with respect to RBC?

a. RBC is Biconcave in shape.
b. It has average life span of 120 days.
c. Spleen is known as Graveyard of RBCs.
d. They are also known as Leucocytes.

23. ‘wftrrsareertay fhRefom’ e & & e gafaa 872
a. Rh-ve #maT 3w Rh+ve faar
b. Rh-ve f¥ar sfiw Rh+ve #mar
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C.

d.

Rh-ve faqr 3w Rh-ve #1aT
Rh+ve fo4T =fiw Rh+ve d1aT1

Erythroblastosis foetalis is related to

a.
b.
c.

d.

Rh-ve mother and Rh+ve father
Rh-ve father and Rh+ve mother
Rh-ve father and Rh-ve mother

Rh+ve father and Rh+ve mother

24, fg=ehta e, e & & s A= arft STt 22

a o o p

HRIBEERIC R IRINE R

Bicuspid valve is found to be present in between:

a.
b.
c.

d.

Right auricle and Left auricle
Right Ventricle and Left Ventricle
Right auricle and Right ventricle

Left auricle and Left Ventricle.

25. AR &1 =9 978 F A7 7 T 86

a0 o p

-T2 g
ST gl
AT T
ATITAHRTATT ZTHIT

Vasopressin is also known as:

a.
b.
C.
d.
26. 1. HE (weroe "garfeorg wfernn) & defed et wot § & Fi7 |47 F97 T2 T8l 2 ?

a o oo

Anti-diuretic hormone
Diuretic hormone
3F hormone

Emergency hormone

Tg FUTAT HLAATIh A FLATSA RITARTA T TAT 2T gl
g TALTALIIOT TAT S FT &I AT 21)

THH qIEMATEE 91T ST &
SUE H | FE TRl
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Which of the following statement(s) is not correct with respect to P.C.T (Proximal

Convoluted tubule)?

a. ltis lined with Simple cuboidal brush border cells.

b. Itis major site of Reabsorption and Selective secretion.

c. It contains Podocytes.

d. None of the above

27 . R A 1T 7 Haer e & o Frar 872

a. =

b. =t

c. HiEawh

d. ¥

Organ of corti is reltated to

a. Eye
b. Ear
c. Brain
d. Heart

28. 77 T garg Hady uTd FT FEATdt 57

a. T
b. =T
c. fear
d. sifaear

The inner most layer of Eye is known as

a. Sclera
b. Cornea
c. Retina

d. Conjunctiva

29. o RF I T RAHT A AT F7 Ft AagdT warg?

a. EEIrEAE
b. feifas® e
c. #fme g
d. 39T At

The Centre for controlling body temperature is situated with in:

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

[sifSet u%sl UsT | (2023-24)

Page 9 of 14



a. Hypothalamus
b. Limbic lobe
c. Cerebral hemisphere
d. All of the above
30. 791 & & &9 (-19) § FTHIA T AT A ESITHIIEH & T grar 82
a. SrETerte SiY Jemtee
b. Wt ¥ ta.uH

c. FrFgmE
d. 39 At

Which of the following hormone(s) is/are secreted by Neurohypophysis?

a. Oxytocin and Vasopressin
b. Prolactin and LH
c. Growth hormone
d. All of the above
31. 7 & 7 T straraeRTent eI & 918 F off ST At 87

a. ufgHfee
b. s

c. fruaue
d. vHr.Hoa

Which of the following is also known as an emergency hormone?

a. Adrenaline

b. Thyroxine

c. TSH

d. ACTH

32. o &1 & 9 § & 6| AITAHT F gRT grar 8 ?

a. a- FwIHTT

b. B- =T

C. Y-FIIHTT

d. O- Iy

Insulin is secreted by

a. a-cells
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b. B-cells
c. y-cells
d. d-cells
33. {9 & & Fre AT gTHIA (ST F g STrAd grar 272

a. UENH
b. W

C. SUUh T+t
d. IO § & A Aat

Which of the following hormones are secreted by Ovary?
a. Estrogen

b. Progesterone

c. Both of the above

d. None of the above

34. =t FwferenTd Iufeerd wEdt 8

a. =TT H
b. Fuw#H

C. AT=HAH
d. swmeT H

Leydig cells are found to be present in
a. Ovary
b. Testis
c. Thymus
d. Pancreas
35. 9% & & F9 US| &7 U 3T 87
a. TS T stRfertae
b. TFEEN

c. T=.HY. S sfi¥ v=.dtue
d. W

Which of the following is an example of Androgen?
a. Progesterone and Oxytocin

b. Testosterone

c. HCG and HpL

d. Prolactin
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36. FAT F T § I AT g HET FLAT 87
a. =fem
b. sifasw
c. FrafRfeow
d. ®TEErrEfAT

Which of the following hormone helps in ripening of fruits?
a. Ethylene

b. Auxin

c. Gibberellin

d. Cytokinin

37. 9Tedt ® FETT F AT T TARAT FE AT 3
a. TrHAT
b. dwwd
c. wrerMifafesy

d. vafFEe

Process of ageing in plants is termed as
a. Dormancy
b. Senescence
c. Photoperiodism
d. Abscission
38. ot & IeAtora A T /AT (A FraeT grar g2
a. 180 wfrex wfafaw
b. 125 et wfa fee
c. 1.5 e gfafes
d. 5&ftex afafes
The volume of Urine released per day is equal to:
a. 180 litre per day
b. 125 ml/minute
c. 1.5litre / day
d. 5litres/ day
39. e # & T oiq 99 & 9T FIghIT gaT AT AT 872
a. #EeA

b. weft
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C. WIH=Z
d. 3uarE gt

Which of the following animal group will consist of 4 chambered heart?
a. Human

b. Aves

c. Crocodile

d. All of the above

40. 99 3T = FT AT FT AHTT ZraT g, 7 —
a. FICIIEA

b. e gad g
C. FIAISHFATE
d. ITTrE Tt

The sound of LUB and DUB is produced when
a. Valves are closed

b. Valves are opened

c. Heart beats

d. All of the above
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SIRIAUS 9IfSID 3fofieNrot ud ufdrgiur ufyerg , 2l

HISCT U%1 USI STRDISIBI

(2023-24)
®ar- 11 fererr- Sfta ferstrot
Answer
1 b 9 d 17 d 25 a 33 c
2 d 10 c 18 b 26 c 34 b
3 a 11 c 19 d 27 b 35 b
4 d 12 b 20 b 28 c 36 a
5 b 13 b 21 d 29 a 37 b
6 d 14 d 22 d 30 a 38 c
7 c 15 a 23 a 31 a 39 d
8 c 16 c 24 d 32 b 40 a
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SIRAIUS IEID 3folzieNlol ud ufdrgiur ufseg, 2t

arftias uzign
Jiisc1 Ul usl
3IDI : 2023-24
FET-11 fw- ACT qHg- 1 et quTta-40
T fAger:-
> gt wraRaE g |

It is mandatory to answer all the questions.
> TR FAEEAT408 |
The total number of questions is 40.
> 9% 77 F forg 1 o RaiRa € |
Each question carries 1 mark.
> T% T ¥ o =R Reer Ru g g |1 398 8 v 93t fAser w1 sa= i |
Each question is provided with 4 options. Choose the correct option.

> AT ST * [oIT FIE 3 TGl e SATU |

There will be no negative marking for any wrong answer.

1. GEUTelsT Ud oIdTeha @rqmwwmﬁﬁ? (When the first book on Book-keeping

and Accountancy was published?)
A. 1494
B. 1498
C. 1496
D. 1594

2. %2,00,000 =7 % A & {aFT & a1 O a9 % of=q | A~aq Lgadr 1 a7 Z 10,000 =M
TE THF e %’l (At the end of financial year after sale of goods worth ¥2,00,000 there
was a closing stock of ¥10,000. This is ) :

Tch "cdT (An event)

T ola-gaT (A transaction)

Uh olel-Gol o TTY-HTY Teh TT (A transaction as well as an event)

o0 w »

T Teh oled-co of Weh T (Neither a transaction nor an event)
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3. I GFITT H HiFATeId gd o (Fixed assets include) :
A. 3ifea# i (Closing Stock)
B. 3131 83TcATeT (Payment in advance)
C. HeitaR (Furniture)
D. s (Cash)

4. faFafoiad & sleT-ar sga w17 82 (Which of the following is not an expense?)
A. adeT (Salaries)
B. [T (Rent)
C. & (Purchases)
D. 31gXoT (Drawings)

5. Ueh cYGHRN GaRT di@Tehe] o fohd EIRY T IT9ATAT ST & 2 (Which form of accounting is
adopted by a business man ) ?
A. T3 ei@TeheT (Cost Accounting)

B. fa<i er@ieheT (Financial Accounting)
C. & ol@Tehet (Tax Accounting)
D. U&=t oi@TeheT (Management Accounting)

6. TTIF & Hedichel & Teadl H folasT 7 & PisT-AT HUT el &7 (Which one of the following
statements is correct with regard to valuation of stock?)
TTeh &1 HodATehel T SITAT & (Stock is valued at ) :

A. dRTd #ed 9T (Cost Price)

B. SIS #HeT 9T (Market Price)

C. 9T AT TR Hed, ST aleAt 7 # gl (Cost Price or Market Price, whichever is lower)
D

. ST AT STIR Hed, i &leil # 318 g1 (Cost Price or Market Price, whichever is
higher)

7. Tl SHaH TR & 3HTHR SATGHTeh SehTg =Tef T8 (According to going concern
concept, the business entity will continue to exist) :
A. AT Frel deh (Indefinitely)

B. ¥TUTA ¥ & (Permanently)
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C. 3rEURY &9 & (Temporarily)
D. 313 & IS A&l (None of these)

8. I AW YUTTell & Sieieh ogehd YAl fiarely & (Father of Double Entry System Lucas

Pacioli was an inhabitant of) :
A. T & (France)

B. Scall & (ltaly)
C. fS¢sT & (Britain)
D. 3R & (America)

9. IS oG YUTTell H Yedeh Hi & Yo (F&7) &1d & (In double entry system, every transaction

has....... aspects) :
. T (One)

A

B. oitel (Three)
C. ar(Two)
D. 9 (Four)

10. SI@TheT & sTohe, IR o 3ecTdld SHAT T oIET [oh T AT & :
(Under the Cash Basis of Accounting, expenses are recorded):
A. $3TcTe 3 SiTet TR (On Payment)

B. TIF &I gl UX (On being incurred)
C. #Tel &7 [ashd g1t UX (On goods sell )
D. SoT8H & &IS A8l (None of these)

11. FeMT &7 AdheT s (Purchase of machine for cash);
A. Fel FFITIAT 1 GeTdT & (Decreases total assets)
B. el HEYIET IS TRacieT w761 hicll & (Keeps total assets unchanged)
C. el FFafTdTl # g fer X & (Increases total assets)
D. 39ed & @ &I$ w7gT (None of the above)

12. 3T9¢ 313 & FIT Gohd T &2 (Debit indicates which of the following) :
A. FFIfT # gefer (Increase in Assets)
B. &Iffica & &&T (Decrease in Liabilities)
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C. Yolt # ST (Decrease in Capital)
D. 3T (All of these)

13. 3TeTTEdaTel Wicl &l gafiehel TehaT ST Hehell & (Impersonal accounts may be classified into):
A. TR HET H (Four Parts)
B. 31T #1911 & (Eight Parts)
C. &I #Em & (Two Parts)
D. 313 & HI$ AT (None of these)

14. TQMHT T QT ... Tt g | (Proprietor's Accounts is............... Account.)
. arediae (Real)

ATHATT (Nominal)

. <IIFAT (Personal)

. SoTH ¥ IS =T8T (None of these)

O 0 W »

15. HeelT o sTehe;, oD 1T AT o T STIe fhAT ST & - (A sale of goods to Munna for cash is
debited to):
A. HeeT (Munna)

B. s @IdT (Cash Alc)
C. o @rar (Sales Alc)
D. 313 & IS A&l (None of these)

16. STFAIA WIdT T T g (Personal A/c is related to)
IREFIIGT T 13T T (Assets and Liabilities)
g, gIfeIaT a 31T & (Expenses, Losses and incomes)

IMgehl U oelgRI & (Customers and Creditors)

SoTH § IS Aar (None of these)

o0 ® >

17. SToTel IR S THT 3HH fohdel Wel §1 ST 62 (How many columns are made while

preparing a Journal ?)
A7

B. 3
C. 5
D. 4
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18. 3raTEdfas @a & 3fae AT U fRIa AT & (Debit balance in Nominal A/c shows)
A. 3T (Income)
B. <ITI (Expenses)
C. TFYAT (Assets)
D. 313 & IS A& (None of these)

19. eI ofd-CeT ST GRT H & I3TAT ST & (In case of Inter-State transactions the tax that
shall be levied is) -

A. 3TSSIUECT (IGST)
B. HIShUHEr (CGST)
C. THSNTHCT (SGST)
D. ZErSTEer (UTGST)

20. @TAT-S¢T FAT g ? (What is a Ledger?)

. TEI saT (Subsidiary Book)

. TATRET d&T (Memorandum Book)
. 9T §8T (Principal Book)

. 3 T FIS 78T (None of these)

O 0O W >

21. FOT AT Yait FGT T ASTATHAT H 3oTeh Wil H WIdAT-881 H gEAled R el T YTshdT SATeir
KIS

The process of transferring the debit and credit items from a Journal to their respective
accounts in the ledger is termed as:

A. @dlsir (Posting)

B. T (Purchase)

C. W@rdl &7 AV fAeprer=Tr (Balancing of an account)
D. 3URIad H H IS 78T (None of the above)

22. 9Tcd deh olfcheT 373Tel f&eT STAT fohaT SITAT &, T ford@T STt & (Received cheque, is sent for
collection in Bank next day, is written in) :

A. s 98T & Uhs WieT H (In Cash column of Cash Book)
B. s 8T & s ahield & (In Bank column of Cash Book)
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C. 3o Glail 7 (Both of these )
D. 313 & IS A& (None of these)

23. & @I FT AT AV fE@TT § (Credit balance of Bank Account indicates):
A. o & 918 STAT (Deposit with Bank)
B. d% @& 31fafaey (Overdraft from Bank)
C. @It (A) 3R (B) [Both (A) and (B)]
D. 313 & HI$ AT (None of these)

24. TShT S§T T 39N ... o 3TCIEST & fhaT ST 1 (Sales Books is used to record.......)
A. AT & g3 fasear (All Sales of Goods )
B. T 3uR fasharl (All Credit Sales)

C. AT Pl BDISH FEUAr o T 3UR fashaT (All Credit Sales of Assets other than
Goods)
D. #ATel & T3 3UR fashar (All Credit Sales of Goods)

25. 3YR W Y hY I AT Hl......... # for@T ST 81 (Goods purchased on credit are recorded
in.....)
A. Y (ASTATHET) GE [Purchases (Journal)Book]

B. a5y (AT=IreAa) & [Sales (Journal) Book]

C. s g (Cash Book)
D. & UST=ATHT (Journal Proper )

26. Aehs &8 o TR 3Telehel AV T 378 § (Favourable Balance of Cash Book means):
A. g €T & 3TTHR 39 AT (Debit Balance As per Cash Book)
B. 918 g T 3fac AW (Debit Balance of Pass Book)
C. U3 FET & TR STAT AV (Credit Balance as per Cash Book)

D. 313 & IS A&l (None of these)

27. 918 g% Ueh JTAfe & (A Pass Book is a copy of) :
A. o &T afgat 7 Imges & @i Fr (A Customer's Account in the Bank's Books)
B. & Wlel & TFafetId AUhs dar ol (Cash Book relating to a Bank Column)
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C. W T YIiCe Td $[3TclleT TN T (Firm's Receipts and Payments Account)
D. 313 & IS A&l (None of these)

28. &TTeTqTeh JRIC AT fAlTeT &l FeTTfae shich & : (Compensating errors affect the agreement of
the) :
A. dege & (Trial Balance)
B. TIcd & (Balance Sheet)
C. Xt & & et &1 iy 7T (Neither of the two)
D

. SoTH ¥ IS 78T (None of these)

29. Gllil et oh hel H Tlll el oh FHI Ueh YT Tl fohd TR T IR[GI gl STl 2
While posting one zero is missing, which error is it called ?
A. 81T T 3T (Error of omission)

B. f@a@re s 31ef®r (Error of commission)
C. &Tfafci s 3re[efer (Compensating error)
D. fAeered T 3R[Ef™ (Error of principle)

30. 3TEeTel & HAS Hod A ....... h HROT Al Gl & |
(Obsolescence means decrease in value due to ....... )
A. STGTR Heg H TATAT AT (Permanent fall in market value)

B. #ifcer ge-%e (Wear and Tear)
C. THI ST AT (Passage or Effluxion of time)
D. @It 3R 3fas#R (New invention)

3. AMIRE ... faf & & T ST €1 (Depreciation on machine starts from the date)
A. THT T (It is Purchased)
B. 3o 39T H oY 3111 X (It is put to use)
C. 3T TATYT (It is installed)
D. 313 & 15 gl (None of these)

32. § % QIdT ST S1E 37 & W I 3THC AT fohd YhR I el § 2 (Debiting A's account

instead of B's account is an error of) :
A. HeI-Teh FT (Omission)
N N
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B. oG dFa=tir (Commission)
C. fagurea & (Principle)
D. 313 & hIs Al (None of these)
33. TH FI T 500 ST TshT Hr @Aledr 3TF @A & 250 T Fr 315 FSTw wenfad @191 (Sales to Ram 2

500 posted to his account as X 50 would affect) :
A. fasha @rar (Sales Account )

B. H T @rdT (Ram's Account)
C. s WrdT (Cash Account)
D

. SoTH ¥ IS 78T (None of these)

34. Teh AL I AFAT W 2 10,000 S ST T ATAT ST (210,000 spent on repairs of a machine
will be treated as):
A. 91T =3 (Capital Expenditure)
B. 3TI9Td <TT (Revenue Expenditure)
C. T 31mIerd eI (Deferred Revenue Expenditure)
D

. SoTH A IS =T8T (None of these)

35. e o1 IR o1 25% & il Tdshd Hed X amen...... ... 819 (If profit on cost is 25% then profit

on net sales will be............... )
A. 20%
. 30%

B
C. 33&%
D. 40%

36. T fafY Ay gx T3f geaf 3R g1ffica &1 AR § : (Extracts of Assets and Liability on a

particular date is............ ):
A. dedc (Trial Balance)

B. WH-gIfer @raT (Profit & Loss Account)
C. 3mfe RcaT (Balance Sheet)
D. s ¥arg faaor (Cash Flow Statement)

37. 3feaq @ra 7 eafai@a & & forer enfdrer fhar Sirar 82 (Which of the following is included

in the final account ?)
A. SITTR @TdT (Trading Account)
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B. <ITe-grfel @raT (Profit & Loss Account)
C. 37f¥e Rcar (Balance Sheet)
D. 39ded @ (All of these)

38. Tcdeh THTATSTeT T 1T g1eAT ATfeT (Every adjustment requires treatment at):
A. T el 9T (Only one place)
B. &I TUT=r uX (Two places)
C. I T ¥ 3118 W (More than two places)
D. T 9T 8T 7€ (None of the above)

39. Ife tfeds wiaar derue & @ 3T § oY I8 @m™ar S (If closing stock is shown in

Trial Balance, then it will be shown in ) :
A. SIUR @TdT # (Trading Alc)

B. <IT-grfel @Wrar & (Profit & Loss Alc )
C. 37 faear & (Balance Sheet)
D. <Ir-grfer faaistar @i & (Profit & Loss Appropriation A/c)

40. qacd T ..... & &9 # fG@rar S g1 (Prepaid rent is shown as ....)
T HFITT (Current Asset)

ATe] &fdcd (Current Liability)

T IFITT (Fixed Asset )

31T (Income)

o0 ® >
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ANSWER KEY

CLASS-11
SUBJECT-ACT

Q.NO. | ANSWER | Q.NO. | ANSWER
1 A 21 A
2 A 22 A
3 C 23 B
4 D 24 D
5 B 25 A
6 C 26 A
7 A 27 A
8 B 28 C
9 B 29 A
10 A 30 D
11 B 31 B
12 D 32 B
13 C 33 B
14 C 34 B
15 B 35 A
16 C 36 C
17 B 37 D
18 B 38 B
19 A 39 C
20 C 40 A
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SIRIUS IfSID 3fofieNrot ud ufdrgiur ufyerg , 2i<it

aifties udten
disct Ul Ul
;ML : 2023-24
FET-11 v SR AegaT q9g- 1 HeT qUITe-40
T fAer-
> ot wyaffard g |

It is mandatory to answer all the questions.
> TA A A Eear 40 |
The total number of questions is 40.
> 9% 77 F forg 1 o RaiRa € |
Each question carries 1 mark.
> 9% I & forg A faeer R g § | 779 & v 931 fwew #7997 iy |
Each question is provided with 4 options. Choose the correct option.

> AT I F 1T HI i Tl e AL |

There will be no negative marking for any wrong answer.

1. 9T H ZeeTA T T e ¥ g ATI (Internet started in India in...... )-

(a) 1977
(b) 1987
(c) 1997
(d) 2002

2. WITXT 9T 99T & WET g ATAT ATIX Fhgarar gl (The trade between India and Nepal is
called):

(a) 2¢ft =TT (Home Trade)

(b) farzsft =TT (Foreign Trade)
(c) TaT I =TT (Local Trade)
(d) == & 1< &l (None of these)

3. e T = nnnnnnns (Economic Activities=........... )
(a) =¥EETT + T9IT (Business + Profession)
(b) =@aE™ + TSIME (Business + Employment)
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(C) T9IT + LAY (Profession + Employment)
(d) =F=|TT + U9 + TSI (Business + Profession + Employment)

4. GTESTAS &5 AT ATawS STHA & e [FF & & S99 g2 (Which of the following is a

form of Public Sector or Public Enterprises?)

(a) farssfr /91 (Departmental Organization)
(b) \rTESTee f"r| (Public Corporation)

(c) FIt 9T&T (Company Form)

(d) IIF @4t (Al of the above)

(a) fAfSraar (certainties)

(b) sTfAfaraaT (uncertainties)

(c) () e (b) =TT (both (a) and (b))
(d) =75 & =TS 72t (None of these)

6. -7 favg 'Sy § A A JRFT § grEafad T8t 5 (Which point is not related with

the ‘role of profit in business”)?

() ¥ FHT T S(I19d <  To1T (For long time Survival)
(b) TISITTE IqetseT FeAT (Employment generation)

(c) srfarefer farsmer & o (For rapid development)

(d) FereraT gz T (To increase efficiency)

7. 30 FaT 7 (Indent is):

(a) forfera (Written)

(b) HTT%r (Verbal)

(c) ferfera T =it S (Written & Verbal both)
(d) == & #T< Tt (None of these)

8. gar¥ SATIS &7 § (The most-wide scope is) :

(a) ==TaT =7 (Of Trade)
(b) ATTorST =T (Of Commerce)
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(¢) =T &T (Of Industry)
(d) =@aaT =7 (Of Business)

9. Afd=aT ......... gl gl (Ethics is important for.......... )

(a) IFETLT Ta4  forw (Top level management)
(b) Tegeag wag * forw (Middle level management)

(c) fa=T wererhiar sFH=TRAET F forw (Non-managerial employees)
(d) =+t & form (All of the above)

10. UH SATIT FT T Fgdl & (OMEH qgo AT < {6 Fata f@Far Srar & (Business, in which

first import and then export in carried, called):

(a) =T =TT (Export trade)
(b) m=Ta ATATT (Import trade)

(c) qAf+aTa =TI (Entrepot trade)
(d) 3UI<h & | FI 781 (None of the above)

11. “ue A% F1 =07 g § 99348 g, Ff ag =w sqar awsdare g o aft amat 1 vey
& &t T ghaT g7 I8 FAT fhEar g2 (The one man control is the best, if that man is big

enough to manage everything.” Whose statement is this?)

(a) faferas sz, &% (William R. Basset)

(b) T=. T=. 8 (L. H. Haney)
(c) Fafers =fivter (William Spriegel)
(d) 39k # & 751 (None of the above)

12. (v q FATT AT T aHATT A & s g &t =g F3 qreT Oat H7 Seaa
AT g (M refers to an agreement which specifies the terms and conditions that govern
the partnership™) :

(a) AT "o (Partnership Deed)

(b) ATSAETLY T Usiia (Registration of Partnership)
(©) (3) =< (b) T (Both (a) and (b))

() 3Tk | & &1 (None of the above)

13. GEFIET T § I FY ~FAGH F&AT grav & (The minimum number of members in a

Co-operative society is):

@2
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(b) 10
(©7
(d) 20

14. T ggHr gfafa § [y #§ & sv-ar Rgea a7 gat 82 (In a co-operative society the

principle followed is .......... ):

(a) T 3791, U H (One share, one vote)
(b) U= =xf<F, UF Ta (One man, one Vote)
(c) 1< #a 2t (No vote)

(d) 319 | (Multiple votes)

15. ggardt gAfa st 9Tk e =T (Co-operative Society Law was passed in):

(a) 1932
(b) 1922
(c) 1912
(d) 1942

16. fra =mEaRs wea § wrdt qRa g sar €2 (In which type of business

organization 'Perpetual Succession® is found) ?

(a) FFIT (Company)

(b) |T=ETT (Partnership)

(c) Tt EaTI¥ (Sole Proprietorship)
(d) SIR THT (All of the above)

17. T HFQT T G99 Hgea U1 i@ g (The most important document of a company is):
() Ifa=a¥oT (Prospectus)
(b) sT=af<r=rar (Articles)

(c) 9T #9T fA=r|a (Memorandum of Association)
(d) =7 & #TE Tl (none of these)

18. UTHE F=ATTIH & TSTa § AR Bt g (In the absence of Articles of Association applies):

(a) ATIeTT-F (Table-F)
(b) aTfershT- (Table-B)
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(c) aTfershT-| (Table-C)
(d) ATferT-2 (Table-D)

19. 'WTH T &9 AT SUFHHAT F....... 7T I&T8<0 gl (‘Indian Railways' is the example of

(a) farssfr S9sT (Departmental Undertakings)
(b) \TaSTI= 31 (Public corporations)

() TLHRTEY FFIAT (Govt. Company)

(d) SYLI<R H s AgT (None of the above)

20. TR FHAT T FFAL g et F#97-8-F7 ....... STeraT AT Ster IS TCHT & I gt
gl (A Government company is the company in which the paid-up capital held by the
Government is not less than):

(a) 49%
(b) 51%
(c) 50%
(d) 25%

21, 'STHT TR AT dehi 7 FFe 28 1 w14 82 (Accepting deposit' is which type of function
of banks?)

() ITxf¥ek &1 (Primary function)

(b) YT &I (Secondary function)

(c) |THTHeTFR FTF (Social function)

(d) IR § & FTS 72t (None of the above)

22. w1 1 o wmfia gem (Reserve Bank of India (RBI) was established in):

(a) 1955
(b) 1932
(c) 1935
(d) 1950

23. T F ... e B § (There are.......parties to insurance contract)

(a) =T (Two)
(b) = (Three)
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(c) =T (Four)
(d) 91= (Five)

24, 9% & § 'Sftaer =T 7 I F9-97 §2 (Which of the following is the objective of life
insurance)?

(&) FT&T (Protection)

(b) = =T (Investment)

(c) FeaT @t faf==T (Protection & Investment)
(d) =9 (Profit)

25. 39t % fAta= 92 v 31 & (Finance received on the issue of shares is):

(a) TETHTAIT (Short-term)

(b) TeTsRTeA (Medium-term)

(c) EFHTe(I (Long-term)

(d) == & 1S 72t (None of these)

26. e & & #I far =71 agy &A@ Tel g2 (Which of the following is not included in external

sources of finance)?

(a) srfarfasRd (Overdraft)

(b) &= =79 (Retained earnings)
(c) &% =T (Bank loan)

(d) ==99= (Debentures)

27. Ggfaa &= o & A & § *i agr@® g2 (Which of the following is helpful in

balanced regional development):

() ETF-Tq4T =7a9TT (Large scale business)
(b) =9 ==&t (Small business)

(c) F9f==aT (Companies)

(d) 3Urh & & FI< 78t (None of the above)

28. fAmTr &= # g T QT ITHAT F7 Afewaw [T HHA1 § (Maximum investment limit

for small enterprises in manufacturing sector is) :
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(a) %1 FE (R1crore)
(b) 22 FIIE (Z2crores)
(c) T5 FUIE (T5crore)
(d) 210 =g (Z10crore)

29. 991 ® | FIV-|T ATIHTR—AT FATEH FT FI T5i 52 (Which of the following is not a cause

of business risk?)

() Telt=r<T &t @t (Breakdown of machinery)
(b) =peret wer=er (Efficient management)

(c) T=HT= FHATT (Dishonest Employees)
(d) FEIT T FLAHTT A1t (Changing government policy)

30. ScqTet A Fohia wgrEaT Y& w<ar § (Financial assistance to producers is provided
by):

(a) o1k =TITEY (Wholesaler)

(b) FeT ATITRT (Retailer)

(c) Irg= (Customer)

(d) =78 T FTE 72t (None of these)

31. favTfter WueT=Y &7 T g (Departmental stores originated in):
(a) e | (France)
(b) Z¥tvE § (England)

(c) sTHT=T | (America)
(d) w2 7 (India)

32. FeafcifEa & a #19-H ©& sEar™s &3 981 82 (Which of the following is not a

business activity?)

(a) =& T I (Production of goods)

(b) FSTELT o o U FwreaT | e (Work in factory for wages)
(c) &gt # A== (Exchange of goods)

(d) of¥age (Transportation)
33. SrfaedT # A TSAT & fiF g ATA ATIR Fl...... SATI Fgd 3 (Trade between two
states in an economy is known as ........ trade):
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(a) oITg] (External)
(b) == (Internal)

(c) =T (International)
(d) == & TS 72t (None of these)

34, arfurey ® foer e f3m stra 8 (Which s included in commerce)?

(a) SATITT TAT ATIT T FZTTF (HATT (Trade and auxiliaries to trade)
(b) =T\ 9 AT (Business and industry)
(c) =g a1 ATITE (Business and trade)
(d) YR § & FIs Aai (None of the above)

35. THhThT SATI FATAH 8, 919 (Sole trading is the best, when):

(a) T ST T srarezr=har g (Little capital is required)
(b) =rferes ISTT it strare=r=har g1 (More capital is required)
(c) ISt T strarezrshar 75! 21 (No capital is required)

(d) =75 & 1S 72t (None of these)

36. TEUST FIAT # Fe g (Aa=0r fFaeh grar fHam Srar &2 (Centralized control in MNCs

implies control exercised by):

(a) 9TTETU (Branches)
(b) FrgTehT (Subsidiaries)

(c) geaTrT (Headquarters)
(d) 5|2 (Parliament)

37. ST § ST GATA T I ...l H g ATl (Postal services started in India in........).

(a) 1737
(b) 1837
(c) 1937
(d) 1947

38. SAAHTT &1 IUHIHTH & Tid T ITQAE g2 (What is the responsibility of business
towards consumers?)

(a) &[5 &l &t IfT (Supply of pure commodities)
(VELE #£¥ 3t LGRS ‘Iﬁ (Supplying goods at reasonable price)
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(C) FETAT FT TATH ATAT H Ica1aA (Producing sufficient quantity of goods)
(d) 3Tk @At (All of the above)

39. TF BH F TR FT THI-T &iT AT FIGT §2 (Who issue the ‘Certificate of

Registration’ to a firm?)

(a) T gL (State Government)

(b) vt T (Central Government)

() FH|T T TRrE2TT (Registrar of Firms)

(d) IR § & FIs Aei (None of the above)

40. FHAT SLTETRAT ST ATHTLOTGAT (Equity shareholders ordinarily have):

(a) AT < T ATEFRTT A1 2rar g (No voting right)

(b) AT T =T HTHa AR ZraT g (Limited voting right)
(C) @7 < T g srferT grar g (Full voting right)

(d) =75 & 1S 72t (None of these)
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ANSWER KEY

CLASS-11

SUBJECT-BST

Q.NO. | ANSWER | Q.NO. | ANSWER
1 B 21 A
2 B 22 C
3 D 23 A
4 D 24 C
5 B 25 C
6 B 26 B
7 A 27 B
8 D 28 C
9 D 29 B

10 C 30 A
11 A 31 A
12 A 32 B
13 B 33 B
14 B 34 A
15 C 35 A
16 A 36 C
17 C 37 B
18 A 38 D
19 A 39 C
20 B 40 C
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3IR¥VUS TSP 3lolieNrol Ud Ufdrgivur ufdug, icht

arfias udien
TSI U%1 UBT
IPDI: 2023-24
FET-11 fawa- CAE q9g- 1 HeT qUITe-40
T fAser:-
> gt wraRaE g |

It is mandatory to answer all the questions.
> T AT FTESAT40 8 |
The total number of questions is 40.
> I® T & g 1 3 Feifa € |
Each question carries 1 mark.
> T% T ¥ forg == Reew Ru g § | 398 8 v 981 faser w1 9a= i |
Each question is provided with 4 options. Choose the correct option.

> AT ST & 1T FiS 3T TG1 e SO |

There will be no negative marking for any wrong answer.

1. 693.607 ST HIeT qUITeh & HieeTehe deh IclsU :

Find out the value of 693.607 correct to the nearest integer :
A. 693.607

B. 0.607

C. 694

D. 693

2. 846.807 T TATY AT SBTS & Tfoolhe g1 :

The value of 846.807 correct to nearest ten will be :
A. 84.68

B. 847

C. 850

D. 846.8

3. 0.0768759 T Hed 4 AT 3ehi deh TAITAIT:

Find the value of 0.0768759 correct to 4 significant figures:
A. 0.0768
B. 0.07688
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C. 0.07687
D. 0.076

e

feTifohd & T hieT 198.9626 + 87.538 T TEUSS B & ?

Which is the standard form of 198.9626 + 87.538?
A. 198.9626 + 0.87538
B. 198.9626 + 8.7538
C. 19.8926+ 8.7538
D. 1.98926-+ 0.87538

5. 5.6 x .00782 ST AT 9 G :

The standard form of 5.6 x .00782 will be:
A. 566.0x7.82
B. 0.0056 x 7.82
C. 5.66 x.782
D. 56.6 x .0782

6. HhTI Al & (1205)2 T ATH TG & HieaAhe M

The value of (1205)? by contracted method correct to lakh will be:
A. 1x10°
B. 15x10°
C. 1.5x10°
D. 14.6 x 10*

7. 1005.2 + 10.005 ST HTeT SAHSI & Ueh 37eh deh Y Tt :

Find the value of 1005.2 + 10.005 correct to one place of decimal:
A. 100.4
B. 100.5
C. 1004.7
D. 10.04

8. 89.005 + 0.00634 &T HATeTeh FTE

The standard form of 89.005 + 0.00634 is
89005 + 6.34

0.089005 + 6.34

8.9005 + .000634

8900.5 - 634

oOo0wp

B. 60,000
C. 6,00,000
D. 600
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10. 80,000 HIeT = ........ IETCIP: [k

80,000 metre = ......... Kilometre
A. 8
B. 80
C. 8000
D. 0.8

11. IfE X FT 10% TET & Sy FT20% § AT X : y RIS &

If 10% of x is the same as 20% of y, then x : y is equal to :
A. 1.2
B. 2.1
C. 51
D. 10:1

12. QY HEATU 7 : 8 o 37eqarel H €1 ATE Tedeh & 3 S5 ferr SRy &l 3HehT 3e]d1el 8: 9 &1 ATl &
-
Two numbers are in the ratio of 7: 8. If 3 is added to each of them, their ratio becomes
8:9. The numbers are:
A. 14, 16
B. 24, 27
C. 21,24
D. 16, 18

13. A 3R B &I 31 3: 2 & 3e]dTel H 3 o4 5: 3 & T4l # ¢ | Afe Fedeh 3 1,500 STcAr § v B
PTG

The income of A and B are in the ratio 3: 2 and their expenditure in the ratio 5 : 3. If each
saves % 1,500, then B's income is :

A. %6,000

B. %4,500

C. %3,000

D. %7,500

14. 9 AB=6:7TdB: C=8:9aTA: B:C¥¢:
If A: B=6:7 and B: C = 8: 9, then A: B: C is:

A. 24:28:63
B. 48:28: 63
C. 48:56:63
D

. SoTH A IS =T8T (None of these)

15. Teh 31 A 120 ST & 40 Tl §U| 914 3R el T a1l &

In a class of 120 students 40 failed. The ratio of pass and fail is :
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o0w»

2:1
3:3
1.2
3.2

16. T 3R TS & dclel o1 37191 9:5 & | T aTS T ActeT X 600 BT il UeHH ol Akt G141 :
The ratio in the salary of X and Y is 9: 5. If Y's salary is 600, then X's salary is :

A.

31,000

B. %1,200
C.
D. %1,080

31,400

17.FE X :4::18 : 24 A X FT AT 5 ; If x:4::18: 24, then the value of X is :

A.

B.
C.
D.

a b~ ownN

18. A0 T fa=1TeT HeT31 & STl T HET 1 341l 5: 6 § | Ife; aMOTeg H 400 BT & oY

CRIGEEBIEIE IR IC IR

In Commerce and Science classes the number of students is in the ratio of 5: 6. If there
are 400 students in Commerce, the number of students in Science is :

A.
B.
C.
D.

1000
400
300
360

19. e 10 AH T HeT X 1.245 §, @F 1 Tohollarme & Hed &
If price of 10 g is ¥1.245, then the price of 1 kg is:

A.
B.
C.
D.

31245.0
1245
312.45
31.245

20. Ife T 100 9T NI 2 2.125 &1, ar T 10,000 hT SHHTUT g1

If commission on 100 is ¥2.125, then commission on 10,000 is:

A.

B
C.
D

212.50

. %¥21.25

32125.0

. ¥21250.0

21. If¢ 6 31T 4 B F TS & 31 6 B, 12 e & ST & ar 30 37 fhdel Tea & RIS 82 If

6 mangoes = 4 apples, 6 apples = 12 oranges , then 30 mangoes = ........ oranges
A. 40
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22. = e8| (Fine Gold) =

oo w >

18 3 & HI=T (carat fine gold)
21.6 3 IS A= (carat fine gold)
0.9 3% EEr AT (carat fine gold)
g YT ST HIe (carat fine gold)

23. gfe 42 7Y 28 HAT & I &Y 31X 70 HA 30 St & S & aY 70 IR fohsy Blst & SeT

giafr 2

If 42 cows are equal to 28 buffaloes and 70 buffaloes are equal to 30 horses, then how
many horses are equal to 70 cows ?

OO w»

20
10
30
40

25. Ueh [qcATerA H BTAT I HE&AT 60%, Tic; ST T FEAT 520 § dl ST hT HEATE -

If 60% of the students in a school are boys and the number of girls are 520, the number
of boys are :

A.

B
C.
D

780

. 772

680

. 580

26. (50 + 50 T 50%) = ?

A.

B.
C.
D.

50
75
100
150

27. 9 T ool ShidAeH & 25% + 20% + 10% & HTUR T Jo el e graf :
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The equivalent discount rates on the basis of three successive discounts 25% + 20% +
10% is

A. 65%

B. 55%

C. 64%

D. 46%

28.% 1,100 == #T a&q ¥ 1,000 ¥ 5= 92 9g T I R

By selling an item of ¥ 1,100 in ¥ 1,000, the rate of discount is :
A 11%
. 10%

B

C. 91 %
11

D. 115%

29. Ueh GhleTR Hef T3l OR 10% FE ST 8| Afe hIg AMgeh R 1,470 T oo TG § @ fevciat
R A T 2

A shopkeeper offers a discount of 10% on all the items. If customer purchase items worth
1,470, how much money he had to pay?

A. %1,330

B. %1,323

C. 1,325

D. %1,300

30. Tsh TAUe fashl 9T 15% HT T A 2 1,500 & HereT T IR & ar fSshr g

An agent is entitled to a commission of ¥ 1,500 @ 15% on turnover. The turnover is :
A. T1,000
B. 10,000
C. 35,000
D. %50,000

31. Ueh TSAUT 5% HHAAT TAT 1% TRRMET HaTreT a8t el & | A a8 X 1,240 1 Fshr dar g ar
3T el AT

An agent charges 5% commission plus 1% del-credere commission. If he sells for
1,240, his total earning is:

A. %62

B. %74.40

C. %85.20

D. %49.70

32. Uah I &Il X 210 FT a7 T 2 21,000 F IR SIS SolTell o T H T 150 Yred adT & | 9T
37T SATOIT T & AT BT ?
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A share-broker receives 150 as brokerage on selling the shares of ¥ 21,000 3210 per
share, What is the rate of brokerage per share?

A R
B. %1.50
C. 22
D. %3

33. IS eeT WTLNOT SATST &hT & { 2 ST H T 880 T7UT 3 ST 3 X 920 B AT § | HeTerel I UTAE -

A sum of money at simple interest becomes % 880 in 2 years and %920 in 3 years. Find
the principal amount is:

A. %840

B. %800

C. %760

D. %600

34. IS &t 10 TS & SYILAT &1 ST 8 ot S8 et I[AT gled & Forw it o e gty 2

A sum of money doubles itself in 10 years. The number of years it would triple itself is :
A. 25 years
B. 15years
C. 20 years
D. None of these

35. 8% T T A 2500 T 2 IY o ToIT FTLRUT SATST g4

The simple interest on 500 @ 8% for 2 years is :
A. %100
B. %800
C. %80
D. %40

36. WWW%H}[% (The formula for calculating principal is) :

PXRXT
A.
100

B Interest X 100

" Rate x Time
C Interest X 100

" Principal XRate

Interest X 100

D.

Principal x Time
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37. e TR IX 2 &t T <Ishgefer sATST X 52 8 3R SH 9T Scieil &1 37afer T AIERoT S37T 350 &
AreIgfaerd Farg ?

Compound interest on a certain sum of money for 2 years is 52 and the simple interest
for the same period at the same rate is 50. The rate percent is:

A 2%

B. 4%

C. 6%

D. 8%

38. I 20 TTSAT 1 3T Hed 15 BIST & TashT Fed & ST &1 dl o137 T FicT2rel T &7

If the cost price of 20 watches is equal to the selling price of 15 watches, what is the
percentage of profit ?

A. 10.5%

B. 33§%
C. 43§%
D

. 75%

39. ol a&] T 20% 1l IX T 60 H ST IAT| T T 5h T FHed T 81T :

An article was sold for ¥ 60 at 20% loss. Its purchase price would have been :
A. %65

B. %70

C. %75

D. %80

40. 3 AHT Ao : FT AT 3 : 4@ AN AT &M &

If selling price: cost price = 3 : 4, then percentage of loss is:
A. 50

B. 30

C. 25

D. 20
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ANSWER KEY

CLASS-11

SUBJECT-CAE

Q.NO. | ANSWER | Q.NO. | ANSWER
1 C 21 A
2 C 22 B
3 B 23 A
4 C 24 D
5 B 25 A
6 B 26 B
7 B 27 D
8 A 28 C
9 C 29 B

10 B 30 B
11 C 31 B
12 C 32 B
13 A 33 B
14 C 34 C
15 A 35 C
16 D 36 B
17 B 37 D
18 B 38 B
19 B 39 C
20 A 40 C
SRS SID 3fofRieIol ud uforsor ufdug , ek [HATSTT UssT U | (2023-24)
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SIS IIfSIP 3fofieNrot ud ufdrgiur ufyerg , 2ieit

arftio udien
HISTT U%T U1
M3 : 2023-24
DE-11 faer=r- ETP AIRI- 1 &l UUTicp-40

AT {oIG9I:-
> 19l Ut 3Mforari 3 1
It is mandatory to answer all the questions.
> Uil bl et AWAT40 3 |
The total number of questions is 40.
> UcAD U6l & fe1e 1 3icp forenifea 3 1
Each question carries 1 mark.
> UcAD %1 & fere arR fdmcu fGu a1 3 1 $61di A v A8l faacu @1
TRIol DI |
Each question is provided with 4 options. Choose the correct option.
> 3IcId IR ® fe1Q DIS i o181 DIe SIIUa] |
There will be no negative marking for any wrong answer.

1. 3gg# gar § (Entrepreneur is)-
A. gl (Entrepreneur)
B. SIT@H olat arelm (Risk-taker)
C. 9d¥Ish (Manager)
D. & @3l (All of these)

2. IR A 33:&'@'81 &1 #fdsx & (The future of entrepreneurial in India is)-
A. 3R #H (In dark)
B. 3sotad (Bright)
C. ®fesag & (In difficulty)
D. 37 & His =gl (None of these)
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3. sRa # fagel 3qafAAT #r ffwT & (Role of foreign entrepreneurs in
India is)-
A. ThRTcAS (Negative)
B. §&RIcH® (Positive)
C. fa=merdRY (Destructive)

D. 8# & &5 gl (None of these)

4. 3c¥A We S ¢ (Entrepreneur assists) :
A. TS 37HAT (Poverty Elimination)
B. 3nf¥& fa&& (Economic Development)
C. Yoit f#TuT (Capital Formation)
D. 3R&d @3 (All the above)

5. anfds e = ... (Economic Activities =. ........ )
SIqATT + U2 (Business + Profession)
SIaaTT + US9IR (Business + Employment)
9o + SR (Profession + Employment)

o0 w »

ST + UL + A9 (Business + Profession + Employment)

6. IRT HA I i FHEAT F1 FATUT ART & (Solution of unemployment
problem of India lies in)
A. g 31T (Small Industries)
B. FIR 33T (Cottage industries)
C. 93 3¢dIT (Large Industries)

D. 35 & #1s Aaf (None of these)

7. 9@ & WId(Sources of innovation):
A. 3TRTEA® T (Unexpected occurrence)
B. UfshdT &I S (Process need)
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C. ST dUT 99K & 9Rdde (Business and market changes)
D. 390%d @t (All of the above)

8. 3ATACT & 3maeTwar g (Entrepreneurship is needed)-
A. Ta&f8a 3rdegaear # (In developed economy)
B. 3fasf@a 3rfeaarar & (In undeveloped economy)
C. faeraefer 3rdegarar # (In developing economy)
D. I3fr yeR &T 3rdfeuaear # (In all types of economy)

9. AF T & ¥ +la-dY wfi+w fAwrT Hr fAAwar & (Which of the following is a
characteristic of Economic Development)?
A. fa=arX 9fehar (Continuous Process)
B. 3cutesT et 1 3Rd faeigd (Proper Utilisation of Factors of
Production)
C. SllgeT TR H U (Improvement in Standard of Living)
D. 390 @t (All of the above)

10.=a9aTR% @A F71 3T & (The meaning of business risk is):
A. gifel & FFHTasT (Chances of loss)
B. T&RI & (Government taxes)

C. #gaIdH IR (Minimum trade)

D. 731 & d¢T (Rise in expenses)

11.5a fadersr & faw 3fdor § (For efficient direction,motivation is):
A. =T &Y 9€TEr (wastage of money)
B. 31d?Isk (unnecessary)
C. 31a%Ish (necessary)
D. HY &I «1dr (wastage of time)
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12.398 ¥ Hi-ar rfair 3fAYom 82 (Which of the following is non-
financial motivation?)
A. dd< (Salary)
B. dleid (Bonus)
C. &R (Commission)
D. ilh{T dr GI&T (Job Security)

13.9Rd & &Y 3¢AT FT GG F@T § (In India registration of small
industries is)-
A. UfTas& (Voluntary)
B. 3Ta%ds (Necessary)
C. 3ifaarr (Compulsory)

D. 377 & #Is gl (None of these)

14.3caffar Rew FRHA F1 FfHI™ # aFfa = § (EDP
meant for developing)-
A. ZFdaTd T[0T (Personal qualities)
B. 3cIfAdT Wum (Entrepreneurial motive)
C. IFdTd zugui (Professional skill)

D. 3Rad @3 (All of the above)

15.00 49 & fFy a5 & gFRA § Twd a9 Aafa w0 F gt & Qe s3
#d ¢ 3R gg A wR#fAF yrca Fxd § (The occupation in which
people work for others and get remuneration in return is known as):

A. cIgdT (Business)
B. ISR (Employment)
C. 92 (Profession)

D. 3 & #15 Aar (None of these)
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16. SIDBI #T 3% &:
A. R &g 3eer faw 9 (Small Industries Development Bank
of India)
B. f&% 3¢t faerd (Only Industries Development)
C. =g 3T fashrd gfRA&ToT (Small Industries Development Training)
D. Tsg 3T fashra Aiferehior (State Industries Development

Corporation)

17.37fAar i H&T RAvamw §:
(Main characteristics of entrepreneurship are:)
A. 3T (knowledge)
B. iS¢ (vision)
C. #Agald ug Jrfaefierar (hard work and dynamism )
D. 390 T3t (all the above)

18.7tawr & snife swawT #ff W3 FAR WY W@AT §, I FUST @ & wafa ¥
(Business like weather is with us every day who said out of the
following):
A. g7 (Haney)
B. &TeTer (Marshal)
C. Srealaid (Batliboi)

D. &€leRk (Wheeler)

193¢ & 3Yw/3E0YT NRT FS §
(Barriers to entrepreneurship stifle:)
A. sTadgsie (Innovative)
B. adcIRehdr (Profitability)
C. 3fafaaar ( Uncertainty)
D. Sf@# 331 &1 &7Ad1(Risk taking capacity)
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20.%% W T e smaegsan qft # a8, F G@n
(Self actualisation needs on the job are fulfilled by:)
A. & & Agad (ensuring hard work in the job)
B. frd 3curg 3a¥Y i=T(ensuring quality products)
C. UT&ToT A H HENERI(participating in training program)
D. 3Wiad # ¥ &5 Agi(none of the above)

21.3gA YR &F 38 H T §
(Entrepreneur does in employment opportunities)
A. e (increase)
B. &#T(decrease)
C. ¥urfica(stability)

D. 378 & FI5 Agi(none of these)

22 uHAletor v gRfeaa

(Merger and acquisition)

A. FUTAAT c¥dgR &l 3cdlled Hdl ¢ (encourage entrepreneurship

behaviour)

B. 3¢ITAAT c¥dgR &l gdlcdlled Hdl & (discourage intrapreneurial
behaviour)

C. 3¢ITAAT cTagR ! THTIAT &Il g (fail to affect intrapreneurial
behaviour)

D. 377 & FIs 8! (none of these)

23. 357! AFeAYYT ANTET FIT §
(Entrepreneur plays an important role)
A. Tolifae @@ & (in political development)
B. @Gl fd&r @ # (in social development)
C. 3nf¥& @& & (in economic development)
D. 319 ¥ &Is gl (none of these)
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24395 I & HTGeTF ded & (Essential elements of selection of an

enterprises)

A. MTAATAT (Secrecy)

B. caqariA« AT (Business Activity)
C. 9RarelsT &1 819 (Area of operation)
D. 37 @ (All of these)

25.3m9R "fgar & afFAfaa 787 {31 sar (Code of conduct does not
include):
A. fT# (Rules)
B. 9gATT (Dishonesty)
C. Tcafasar (Integrity)
D. afdsdr (Morality)

26.3¢9+T & faAwar & (Characteristics of an entrepreneur):
A. Sif&H ggasdr (Risk Bearer)

B. AdlsT 3Ushel sl T (Establishes new understandings)

C. AT YeleT et darell (Provider of resources)
D. 3Rad @3 (All of the above)

27.3¢g#Y (An entrepreneur is).
A. S=H oIdr g (Born)
B. §=TaT ST & (Made)
C. SIH ofdl § Ud &A1 ST § &t (Born and made both)
D. & @3l (All of these)
28.3?31‘#1 da # WS § (Entrepreneurs are helpful in

bringing about)--
A. Fedferd ieafaier fashre (Balanced industrial development)
B. 3r@=fad e fdshra (Unbalanced industrial development)
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C. faEr g3 eI {3 (Scattered industrial development)
D. 8H & &5 gl (None of these)

29.. TS FIEHR oY 3gAWI FT Ie[arT ot & (State governments provide

subsidy to small industries on)

A. OIS & HITdTeT 9T (Payment of interest)
B. dehellehl 31«7 9X (On technical knowledge)
C. 9R@gsT WX (On transport)

D. 3 T 9X (On all these)

30.779T9R 3c9+T HIdT & (Innovation produces):
A. odlsT 3caig (New product)
B. &¥ SR (New market)

C. Id¥eT T+l TXTAT (New organisation structure)
D. 3Rad @3 (All of the above)

31.3aj£m°r & aor & (The quality of an entrepreneur is/ are):
A. gl (Entrepreneur)
B. SIT@# olat arelm (Risk-taker)
C. gt (Manager)
D. & @3l (All of these)

32.3g7 &1 WaIf® AerEe g @
(Maximum role of an entrepreneur is)
A. IiATSIS TATR&AcT H (in social stability)
B. Taifd T gef&r & (ingrowth of goodwill)
C. fadta dadsr & (in export promotion)
D. 3@+ fa&T & (in economic development)
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33.“9%1” § 3 § ot fF WA (“Drones” entrepreneur are the ones that

are often:)

A. 3faRed @ &ATT § (earn super profit)

B. AT ¥ &ATT & (earn normal profit)

C. os7 adur g1l 8 3o & (earn profit or even loss)
D. gfaam &ta & (Incur losses)

34.5999T FT 36227 ¢ (Object of business is)-
A. HdT T 368’ (Service Motto)
B. @ h1HAT (Earning profit)
C. g&1d (Charitable)
D. &ar 3R & gt (Service and profit both)

35.3?31‘%?“ ¥ ¢ (Entrepreneurship is a game of)-
A. YT T (Money)
B. 7T &1 (Time)
C. TTed T (Skill)
D. 358 & @15 =gl (None of these)
36.599HTT & 36427 ¢ (Objective of business is):
A. SITH 3¢62T (Profit objective)
B. §aT 384T (Service objective)
C. oTH- |dT 3¢62T (Profit- Service objective both)
D. #X aRY (Tax evasion)
37.%T & #la-w e fAwmr fr [FAwar 2 (Which of the following is a
characteristic of economic development?)
A. fo=aR wfshar (Continuous process)
B. @&} gef&r (Continuous increase)
C. SNaeT-TR & U (Improvement in standard of living)
D. & @ (All of these)
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38.3 & 3w @ & fdw 3g¥#Ar § (For industrial development,
entrepreneur is):
A. 31T (Unnecessary)
B. 3aTs (Necessary)
C. #X (Burden)
D. &7 &1 §a1ET (Wastage of Money)
39 R 3gafAar e w¥uer Rua § (Entrepreneurial Development

Institute of India is situated in):

A. 3gHSIETG H (Ahmadabad)
B. #¥$ # (Mumbali)
C. 55 f&eell & (New Delhi)
D. YesTs H (Chennai)
40. <ATTHIAF ATAFHAT FT 3818I0T § (Examples of business ethics);
A. aEJ3T A fASTaE gl T (No adulteration in goods)
B. dMgehl & 3T o187 @ Hed =T (Fair price and profit from customers)
C. 39Ied (a) 9T (b) &t [Both (a) and (b) above)
D. 377 & HIs gl (None of these)
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SIR¥AUS 9IEIPD 3foAeIIol Ud ufdrgrur ufyug , il
aifties udtan
Jilscl Ul Ul
*_M>T: 2023-24
(@xqforeo)
FeqT-11 [EEREELEE] quTTeR — 40 TqT - 01 =<
CLASS-11 SUB-HISTORY | FyLL MARKS-40 Time-01 Hr.

qTaT=T e -
General Instructions:
> T 40 TT &

Total number of questions is 40.

> aft vt F 39T AHATT 2l

All questions are mandatory.

> TE T o forw ue st et 2

One mark is assigned to each question.

> TTIE T % AL (ashed QU 0 g) 751 fawed 71 9739 HIfru) There are four options for each

of the questions. Choose the correct option.

> Id I forT FE 37 TGl Hle S0

There is no negative marking for wrong answer.

1. HATITHAT 919 fhE 79T & oeal & 94971 87

a. IATT b. effesT
c. TA T d. 3TH & FIE Tol
The name Mesopotamia is made up of the words of which language?

a. Greek b. Latin

c. Roman d. none of these

2. TErha ST ol &g STar?
a. 331 THAT |9 b. 331 Tt &
c. 531 THdT A9 d. 7123F4t @
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When did Alexander conquer Babylon?

a. 331 AD b. 331 BC
c. 531 AD d. 712 BC
3.  faATRew #m am?
a. Tt =7 forgr b. =iar =T T
c. afar =T o d. A9 H &S
What was the Dinarius?
a. Gold coin b. Silver coin
c. Copper coin d. any of these
4.  zfagma = foar B wgr STar 872
a. 3TEed b. wiEdzaTsd
c. glrereq d. FIATETH
Who is called the Father of History?
a. Augustus b. Constantine
c. Herodotus d. Colosseum
5. T TS FT TIH THTE Fi A2
a. T H b. FETaTe
c. #ive d. s
Who was the first emperor of the Roman Empire?
a. Augustus b. Constantine
c. Senate d. colosseum
6. TETST T ST 9T a9 AAT Hi F7 Fgd 8?
a. HoTterT b. e
c. THIRT d. =8 & AL TEH
What are the villages situated on hill tops called?
a. Mapalia b. Castella
c. Amphora d. none of these
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7. SETSed | F7 T g7

a. Iq b. sf¥sTa &t
c. HeT d. sl
What is meant by Equities?
a. Das b. Elite
c. Middle class d. Equestrian
8. LA TS H TG ] FA /i & FHdl qh AT AT?

a. 509 AT 4 & 27 6T 1@

b. 509 AT I & 509 THAT
c. 27 $AET I & 509 AT A9
d. 509 $HA B & 273HAT A

How long did the republic last in the Roman Empire?

a.509BCto27B.C b. 509 BC to 509 A.D

c. 27 BCto 509 A.D d. 509 AD to 27 A.D
9. B IE T HT AT 872

a. T 34 T IF

b. 3799 gt 29T § FT ITTH F o1 Ferey wae
c. =X | g aTell AST
d. TH q TS TEF

What is meant by civil war?
a. War with other countries
b. Armed struggle to gain power in one's own country
c. Fighting in houses
d. none of these

10.  FEY 953 e ATHT § 309 gl &7

a. e b. TH
c. AT d. FaeETR
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From which language does the word barbaric originate?
a. Latin b. Roman
c. Greek d. Devanagari

11.  STH 58 "W & TS FT 82

a. T JcI< &1 THeT b, TH | &7 gFheT
C. U g T ZHeT  d. TAH & HIS 71
What is the meaning of the German word 'feud'?
a. A piece of stone b. A piece of land
c. A piece of iron  d. none of these

12, 'FramEd gad: ¥

a. YFEs b. raTT
C. SIS d. et
"Yayavar' were originally
a. Nomadic b. vagabond
c. tribe d. species
13. =S @1 i g F4 gs Ai?
a. 1227 =941 a9 b. 1162 THaT A7
c. 1247 9t 919 d. 570 &4t A

When did Genghis Khan die?
a.1227 AD b.1162 AD
c.1247 AD d.570 AD

14,  HETIETHAT H ST Foheent 34t =12

a. Y9 U IZ Al a4r b. eTgT it 34T
C. UTHIOTT T 34T d. Fe5HT & =T

Whose goddess was 'Inanna’ in Mesopotamia?
a. Goddess of love and war

b. city goddess
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c. Goddess of villagers
d. goddess of the moon
15.  'HAY FAT raT AT?
a. A< =1 =T b. ¥ T AEF
C. THT AT FT AT d. ATHAT 30! |47
What was 'Manor'?
a. Lord's House
b. Road of France

c. King of the Roman Empire d. army of feudal lords

16.  HHETQIETHAT Fa4qT =t forfo ey of?

a. 7| b. FFATIRT
C. HIATHT d. ®HT

What was the script of Mesopotamian civilization?
a. Roman b. Devanagari
c. Kilakar d. Persian

17. ' AT 9T?

a. T L8 T T b. T ¥ T #5T
c. T T TS d. ZTH | FE qR!
What was 'TITH'?
a. type of tax b. kind of organization
c. Rome's capital d. none of these
18.  SKIETET TS H ATHSTTa &R for 2ot # afeafera on?
a. TIH b. fatar awt
c. T A d. =rqef =t
Which category included the Elite class in French society?
a. First class b. Second class
c. Third class d. fourth class
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19.  Fq9M™ § WiT § e T it T g2

a. TS b. T

C. TR d. T F FIE TE
What type of government does France currently have?

a. Monarchical b. Republican

c. Dictatorship d. none of these

20. 'T ATEE 99T = e aATET?

a. feretrat a7 fo= b, Trhet

C. HTEH TSl d. Tfersmae
Who painted the picture 'The Last Supper'?

a. Leonardo da Vinci b. Raphael

c. Michelangelo d. Elizabeth

21. ZATC GH HTRI AT G
a. 9T HHTg & TSI g &1 T 1
b. TEdT &
B NEER
d. 919 =T A s
Meaning of Easter in Christianity
a. Symbol of the resurrection of Jesus Christ
b. Clergy
c. Religious teacher

d. Pop’s residence

22. ‘T TETAATSSIO &l T AT 24 Seal’ ATHE Tedeh il AT (e 5l 8?2

a. THAA b. THEE
c. et = fa=h d. T

Who authored the book The Civilization of the Renaissance in Italy?

a. Berkman b. Burkhart

SIRAUS SNfSID 3foieol ud uforsiu ufdug , il [sifset u%sl UsT | (2023-24) Page 6 of 12



c. Leonardo da Vinci d. Raphael

23. T TSIF AT TEqa hl TAAT e hl?

a. Sfergmast b. gL

C. el d. 3TEg
Who wrote the book named "The Prince'?

a. Machiavelli b. Socrates

c. Plato d. Aristotle

24,  ATEIH FA A?

a. YEHA AAF b. T & &1 e AT
c. 7% d. TTaT at
Who were knights?
a. cavalry soldier b. night workers
c. Navratna d. Clergy class

25.  gruEm (Tt ow) =1 =i e Bar?
a. T b. T
C. HTZHel USTel d. SF aTe
Who built the printing press?
a. Raphael b. Gutenberg
c. Michelangelo d. James Watt
26.  ZTATAAT T 3E] HI 0?2

a. g3 T1sT Al ITET b, HE3 T it THT

C. T3 ST &l AT d. HEar ST A AT
Who was Isabella the Iste?

a. Slave of Mantua kingdom

b. Queen of Mantua kingdom

c. Magician of Mantua Stated

c. Mantua Merchant of State

SIRAUS SNfSID 3foieol ud uforsiu ufdug , il [FifseT usel Ut | (2023-24)

Page 7 of 12



27. I %l ATEAATET ITET %0l TATIAT Fd g57?
a.1911 b.1921
c.1931 d.1949
When was the Communist Party of China established?
a.1911 b.1921
c.1931 d.1949

28.  ‘TufefoaT siiw fordfesr fohaes g <= 82

a. T b. THTTT
C. Tal d. =

Who wrote the Principia of Mathematica?
a. Machiavelli b. Socrates
c. plato d. newton

29.  TorEe Ig A0 it A gt qH 91 g G4 6 AT AT THAT A 87

a. e b.FHH g
C. AANE d. ATfET TIT

Who announced that all the planets including the Earth revolve around the Sun?
a. Newton b. Copernicus
c. Aryabhata d. Martin Luther

30. ‘HIHTEEr A A’ ATHE FEAT ool eq1raa st o7
a. Hireedered b. =
c. TUREE qFer  d. He Sfeax
Who founded the Society of Jesus?
a. Constantine b. Newton

c. Ignatius Loyola d. St.Xavier

31. =t T o <91 &1 et o912
a. STHAT b. T
AL d. T

SIRAUS SNfSID 3foieol ud uforsiu ufdug , il [sifset u%sl UsT | (2023-24) Page 8 of 12



Martin Luther was a resident of which country?

a. Germany b. France

c. England d. Portugal
32. = EIfRAT Fl & g HaTE! A?

a. ’rd b. ST

C. I STHTET d. =t

Where were the Red Indians native to?
a. India b. Japan
c. North America d. Indonesia

33.  ToIed 7 HEh ST AT F UF TIAT < 6 & H FHg qreAar a1 ?

a.1648 b.1781
c.1789 d.1947

When did Britain recognize the United States as an independent country?

a.1648 b.1781
c.1789 d.1947
34.  FELT FT AELCTAT T TTLUTHT e TATE T2
a.1909 b.1910
c.1911 d.1913

When was Canberra made the capital of Australia?

a.1909 b.1910
c.1911 d.1913

35.  SITUTA H HES{T =TT el §572
a. 1867-68 =. b. 1870-71%.
c. 1967-68 <. d. 1911-13 5.

When did the Meiji Restoration take place in Japan?
a.1867-68 A.D b.1870-71 A.D
c.1967-68 A.D d.1911-13 A.D
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36.

37.

38.

39.

STTIT | AT T aTert feyshTee ##4m g2

a. FY b. T oA

c. ATEfhe d. HreTETS e
What is the high-speed Shinkansen in Japan?

a. Car b. Bullet train

c. Bicycle d. Motorcycle

AT F o HEATTF el AT 1T 872

a. g97q 9+ b. FT A
c. fort e d. =T
Who is considered the founder of modern China?
a. Sanyat Sen b. Kang Yeowel
c. Liang Kichow d. ching
T T F T T FIT A?
a. g1 |4 b. FT ATAA
c. &1 7w =T d. 39 | FIE A5l
Who was the first President of the Republic of China?
a. Sanyat Sen b. Kang Yawel
c. Liang Qichau d. none of these
AR T o2
a. &t #1 A%
b. 7= &7 f&%
c. & 3T T2 IE1 #T1 [F7
d. 79 &1 Bw

What was Varkashirsha?
a. Woman's head
b. Man's head

c. Head of both man and woman
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d. animal head

40.  HETITSTIHAT o &7 AT & S hl IS qIH Al ST HLar g2

a. T vaw e b. TSAT TaH ®T
c. U9 TaH et d. ST TEH TEAT
Mesopotamia indicates the fertile land between which two rivers?
a. Indus and Jhelum b. Tigris and Euphrates
c. Rome and Nile d. Ganga and Yamuna
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SIRIAUS AfSID 3elieol €d ufdrgrur ufyerg , el

dIfticd uzien
T : 2023-24
(@qfereo)
3R Dol
sfeera (difsc Ac)
DEII-11
1. a 11. b 21. a 31. a
2. b 12. a 22. b 32. ¢
3. b 13. a 23. a 33. b
4. C 14. a 24. a 34. c
5. a 15. a 25. b 35. a
6. b 16. c 26. b 36. b
7. d 17. a 27. b 37. a
8. a 18. b 28. d 38. a
9. b 19. b 29. b 39. a
10. c 20. a 30. c 40. b
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SIRAAUS ISID 3lofAellol ud USISIvI ufdug, Acht
a1t u3leim 2023-24
st Ul U3l (d8ddicud)
Model question paper (Objective)

FET: 11 [ELEEE UKD q97- 1 5 quTie: 40
Class :11 Subiject : -Geography Time -1 hr Full Marks : 40

qrHTT fAde -
o %l 40 77 2

There are 40 questions.

o THT ToT STy |

All question are cumpulsary.

o ST WT o TorT 1 sisk Megiia g

Each question carry 1 marks.
o T WT o ATY fahed (U T g | Fal foshed &7 94 Fiford|

There are four alternatives for each question. Choose the correct one.
o AT I o ToIT FlE ik AT Hle AT |

No negative marks for any wrong answer.

1. W ST % FHdG SR I (e SETAedr § Tafd AT ?
a. AAFET AT gFlee b. Frer X

c. T d. Z7 75 T

1. Which geographer promoted the systematic approach to geographical study?

a. Alexander von Humboldt b. Carl ritter

c. Eratosthenes d. None of these
2. Maferfaa & & i |7 o Ffersd SEwr F7ar g ?
a ATHTSTIE b. zfagm®
c. ATaITE d. T

2. Which of the following subjects does temporal synthesis?
a Sociology b. History
c. Anthropology  d. Geography
3. qedt 7 o A sivere g Rraet 22
a. 14 :IE 95 919 98 g1 b. 15 TS 96 AT 97 TATL

C. 12 T 94 T4 96 TSX d. 16 FITE 98 91T 94 A
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3. What is the average distance between Earth and Sun?
a. 14 crore 95 lakh 98 thousand
b. 15 crore 96 lakh 97 thousand
c. 12 crore 94 lakh 96 thousand
d. 16 crore 98 lakh 94 thousand
4. 9% 9 7 A 1 TT A ATIHSH F (HATT F HOTeT § AT Tl © ?
a. "IT 94 b. ¥ IS
c. fAdew d. STRTT T[T
4. Which of the following elements is not helpful in the formation and modification of
the present atmosphere?
a. Solar wind b. Gas emissions

c. Differentiation  d. Photosynthesis

5. Zferoft shiet § | 1 @t et Tedt 82

a. 2 - 3 AT, b. 3 -4 .

c. 5 - 6 fhHT, d. 7 -8 fhHT
5. How deep is South Africa's gold mine?

a. 2-3km. b. 3 -4 km.

c. 5-6km. d.7-8km

6. ECATHUTT T AT TT (e T THLAET TL FH 41 gl 872

a .J=AT & O % HET

b . T=at % THRHAT & FHLO

a. AT % g % ATE - T TH gal gl & HIeor

b. gaf 9T ATATAT % I & FHIL

6. Why is the force of gravity greater at the poles and less at the equator?

a. Due to the rotation of the earth
b. Due to the rotation of the earth
c. Due to hot air around the center of the earth
d.

Due to year round ice at the poles

7. TITHES i HIeTs AT TgTs fhadt gl g2

a. 200 fHT. b. 400 T,
c. 100 . d. 300 .
7. What is the thickness or depth of the lithosphere?
a. 200 km. b. 400 kms
c. 100 km d. 300 kms
8. TN H €At T & THIT T ATAT T FIT FEATAT 572
a. JrIfi T b. faet=r® T
c. AT T d. FqIF 4T

8. What is the wave that travels underground like a sound wave called?
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a. Primary wave b. Secondary wave

c. Tertiary wave d. Quarternary wave
9. RaFe Thel & FAT |TIT STAT 87
a. T ¥ =TS b. g #¥ T

C. AT #hl TgaTs d. T T F e ATeAT g
9. What is measured by the Richter scale?

a. Height of mountains b. intensity of earthquake

c. Depth of the oceans d. Damage caused by seismic waves

10. “HETEM faeame [fgia” |99 1912 § fFad yearad &Har?
a. TS AT b. FSATEH Ao TIE
c.g e d. qrT
10. Who proposed the "Continental Drift Theory" in 19127
a. Alfred Wegener b. Abraham artelius
c. Harry Hayes d. Morgan

11. feaTEe e ThTe T 929 87

a. AAATET A b. U= Fg™
C. FEATART =TT d. FST TS
11. What type of rock is Tillite?
a. Sedimentary rock b. Igneous rock
¢. Metamorphic rock d. Sheer cliff
12. “ARTE T8l ¥ fAeaqr” 7 afaed T e Soqd 6172
a 9 2 b. sieihe AT
C. TATEH ARHATH d. 3T g
12. Who presented the hypothesis of “ocean sub-land expansion”?
a. Harry Hayes b. Alfred wegener
c. Abraham Artelius d. Arthur holmes
13. T Tl o (Referted § 7 e qeefad 82
a. I2AT &1 TIHH b. J==T FT oI
C. EATHYIT d. | aq
13. Polar flying force is related to which of the following?
a. Earth's rotation b. Earth's rotation
c. Gravity d. Tidal force
14, et o & T 97 UF Shiaa Thar 5?2
a. e b. SATATHE AT
C. TeA A=t d. sra¥as

14. Which of the following is a sequential process?

a. Deposit b. Volcanism
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c. Distrophism d. Erosion
15. e & | T T<elT § T STTeqa TohaT AT STaerd TihaT il STIeT STarh erfeparett
BT e ?
a. 3z TaeT b. S5 Waer
C. FAT -TqT T d. fRwee w=er
15. In which of the following regions, chemical weathering process and
mechanical weathering process take place ? |s more powerful than?
a. Andhra Pradesh b. Dry region
c. Limestone region  d. Glacial region

16. fwferfera & & fraet ST 9% sttt st /7T F9707 greft € 2

a. 90 fF. b. 100 f.
c. 120 fhHT. d. 150 .
16. At which of the following altitudes is the amount of oxygen negligible?
a. 90 kms b. 100 km
c. 120 km d. 150 km.
17. 70 & & T srerter o= 21 S 1 F10€X A gF 0 ot | 1eft aE<dt 22
a. a9 9 b. 23.5 f=Hft Ia< srerier W%

c. 66.5 =31 aferft sreqter u= d. 66.5 =T Ia<T steavor w
17. At which of the following latitudes does the sun's rays fall directly on the afternoon of
21st June?
a. On the equator b. At 23.5 degree north latitude
c. At 66.5 degree south latitude d. At 66.5 degree north latitude
18. AT IO FHfcaelTT ATHHLIT & Fgl aaT 87
a. 30-60 f=3ft 3L ey #
b. 30 =3t 3adt sterier & 30 =t aferoft sterior & #ex
c. 30 - 60 =3t =ferft e #
d. 60 T=3fT 3aT steqver & 90 T=RfT IALT sveqver & e
18. Where is the intertropical convergence zone formed?
a. 30-60 degrees in the Northern Hemisphere
b. Between 30°N to 30°S latitude
c. 30 - 60 degrees in the Southern Hemisphere
d. Between 60 degrees north latitude and 90 degrees north latitude
19. FHEAA 9T ATLRTT ohaar grar g ?
a.1013.25 fAferae b, 898.76 fAfera™
c. 1005.13 faferam= d. 1013.95 faferam=
19. What is the air pressure at sea level?

a. 1013.25 millibar b. 898.76 millibars
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c. 1005.13 millibar  d. 1013.95 mbar
20. SSTRICHLTT FHATT il ACTAT H o ATH H SATAT SATAT 872
a. gier b. TTEA
. fareft - Frefier d. TE
20. By what name is tropical cyclone known in Australia?
a. Hurricane b. Typhoon
c. Willy — Willys d. Storm
21. fforfaa Yohe o aTaeli | & ATR1T § qa9 SAT 97ad Hid — a1 g ?
a. &7 7 b. a9t "=
c. T d. FTET 7o
21. Which of the following types of clouds is the highest in the sky?
a. cirrus cloud b. Nimbus Clouds

c. Stratus cloud d. Cumulus clouds

22. JAT o G & [ohe a1 T SEd aTueh aradT ohadr g ?
a.14 == b. 15t &
c. 16 f=fr . d. 17 f==fr &,
22. What is the average annual temperature of air near the earth's surface?
a. 14 degree celsius. b. 15 deg celsius
c. 16 degrees celsius d. 17 degrees Celsius
23. STAATY o A0 F TS FHIUA %0f TZId T ShH AT ST Tl T 62
a . AILH b . =affaq
Cc. SAfA® d. FIATES

23. Koppen's method of classification of climate can be expressed as?

a. empirical b. Systematic
c. Genetic d. applied
24, ATHTAT: G HGTERIT il AGUAT Toha el gial g ?
a.33-37% b. 40 -50 %
c.25-30% d. 15-30 %
24. Generally, what is the salinity of the open ocean?
a.33-37% b. 40 -50 %
c. 25-30% d. 15-30 %
25. 99 § & T A7 999 Il AgMNE g ?
a . figwg wgmme b. sedifch AgMNR

C. HATHICH AgramT  d. TeId AN
25. Which of the following is the smallest ocean?

a. Indian Ocean b. Atlantic Ocean
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c. Arctic Ocean d. Pacific Ocean
26. ST AT @IS Fal A g ?

a . FwAreT b.U.S. A
C . TATERT d. sferer=ar
26. Where is the Bay of Fundy located?
a. Canada b. US.A
c. Alaska d. California
27. J=ft 9T ATH T HAT F g1 & ?
a .3 STa<r b .4 AT
c.33aTs d . 4 SHad
27. When does the aphelion occur on Earth?
a.3 January b. 4th of July
c. 3 July d. 4th January
28. W SAATIAF =T & [6E TS & FH {9 g 2
a ZrarEvRT b.ErraTaE
C HTIfer e d FTeRfea
28. To which species are humans genetically related?
a. Homoerectus b. Homosapien
c. Mongolian d. Caucasian
29. STEA T 3AT & FeT9T SHeh! ATEA T Gl (hawl & ?
a. 3014 . b . 3214 Tt
c. 4214 =Y. d. 3200 =t
29. What is the actual distance of India from north to south?
a. 3014 km. b. 3214 km
c. 4214 km. d. 3200 km
30 . AAHTH ATHATT o SATHATL TZAT T 3 AT Tohaeil g ?
a.45F0s b .46 FIE
.47 FE d .48 FE
30. According to the current estimate, approximately what is the age of
the earth?
a. 45 crore b. 46 crore
c. 47 crore d. 48 crore

31. T8¢~ TRIT- SETIA F HEE! | STl it AEd Tgers fhadt g ?
a. 1000 & 2000 Hiex b. 2000 # 3000 Hex
¢ . 1500 & 3000 #iex d. 750 & 1500 Hiex
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31. What is the average depth of alluvium in the Indus-Ganga-Brahmaputra
plains?
a.1000 to 2000 meters  b. 2000 to 3000 meters
c. 1500 to 3000 meter  d. 750 to 1500 meter
32. STHTH AT AHET FT AT — AT TA &3 AT FaAT ¢ ?
a. 11 =3t =+ b . 10 =3t ==
C. HHTT il @Tet d. s=H™ AN

32. Which water area separates Andaman and Nicobar?
a. 11 degree channel b. 10 degree channel
c. Gulf of Mannar d. Andaman Sea
33. Ao ® & 19 97 SAhaT F ARt 7§90 T g ?
a . faoop T b . & TIT
C . FOT AT d .33 YamT

33. Which of the following is the confluence of Alaknanda and Bhagirathi?
a. Vishnu Prayag b. Rudra Prayag
c. Karna Prayag d. Dev Prayag

34. ST % AP | qIHAATS o qe1T <ol § a9l e FHTor gt g 2

a . gferor — g2 A\ge b .3q%- TAT ATFEA
c . ofraron wfegefi Tsrara d . T AT IRE=ET

34. Why does it rain in the coastal areas of Tamil Nadu in the beginning

of winter?
a. South-West Monsoon b. North-East Monsoon
c. Temperate cyclone d. local air circulation
35. aT 4T sttawed F= Fafetea & @ o g & Raa g -
a. fagw b .3awrEve
C . 3qT T3 d . sufear
35. Nanda Devi Biosphere Reserve is situated in which of the following states —

a. Bihar b. Uttarakhand
c. Uttar Pradesh d. Orissa

36. FAAAIT o THTE AT § (AErerred | & fohadT Staerd &,a+1 &
T ZIAT ATRT?
a.33% b. 55 %
c.44 % d. 22 %
36. According to the forest policy, what percentage of the following area

is currently covered with forests? Should be subordinate?
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a. 33% b. 55%

c. 44% d. 22%
37. FATHT FT AT & —
a. T T b . oo TEE
C . 3= AT & d. ot F=ATETT
37. Tsunami means —
a. Severe earthquake b. Severe storm
c. Undersea earthquake d. Severe storm
38. =AW ¥ fohe &t | AN AT Fi7 Raa & 2
a .Jmm b . T
b . Tt d. Ry
38. In which of these rivers is Maijuli river island situated?
a. Ganges b. brahmaputra
b. Godavari d. Indus

39. AT & e TS § 9 AW Il & ?
a. AT AT ALAT A b, HTA T TEIT FAledh
¢ . U 3T fagw d . ATTEUE T gfr Srer
39. In which state of India does it rain mangoes?
a. Assam and West Bengal b. Kerala and coastal Karnataka
c. Punjab and Bihar d. Jharkhand and West Bengal
40. fRerferfea 1 & 7T "SI &7 90" & 0 & S S 82
a. TuEr b. Trear . wreft d. IR

40. Which of the following rivers is known as the “Sorrow of Bengal’?

a. Subarnarekha b. Teesta c¢.Koshi d. Damodar
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Answer Sheet — Geography 11 (2023 -24)

1. a. ATAFSIST A gHled
2. b. =fagm™

3. c.14 F02 95 1T 98 FATX FhHT
4. REEET]

5. b. 3 — 4 T

6. a .J=AT % oI & FHILT
7. a. 200 frdT

8. a . JTIHE T

9. b.s@T it dtadar

10. a. ATHS AL

11. a. ATl Fg

12. ag g

13. b.g=AT T oA

14, C. Te fasqur

15. C. FAT- T T&Y

16. c. 120 et

17. b. 23.5 3T IaALT sreqter T2
18. b. 30 feIft 3. & 30 et 7. o1, & wex
19. a. 1013.25 fafeam=
20. c . faeft- fastrsr

21. a . qeT 4

22. C .16t a

23. d. wTE®

24. a.33-37%

25. C. 3T AT
26. a . FArsT

27. b . 4 T2

28, b. Errafiar

29. b. 3214 ffy

30. b. 46 FI=

31. a. 1000 & 2000 Hrex
32. a. 11 =3 ===
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33. d. 39 T

34, a. Treroft qierT ATaA
35. b. IqaETE

36. a.33 %

37. C. 3= AL ST
38, b. FETTT

39. b. F¥A T TEIT FATEH
40. d. ITETEY
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SIRAIUS IEIP 3tolzielIol Ud ufdrgior ufserg,, 2t

arftias uzign
JiscI U%1 U3l
IPDT : 2023-24
Del- 11 faeer - sreforrst ART- | {e quIicp- 40
Class-11 Sub. - Economics Time — 1 Hours Full Marks- 40

AT [T -

General Instructions: -
> T 40 9T 2|
Total number of questions is 40.

> AT T o 3L A=aTT 2l

All questions are mandatory.

> TIod® o o forw ua s e g

One mark is assigned to each question.

> Td® T o AL (ashed fRU 0 81 @al fases &1 =97 fifer|

There are four options for each of the questions. Choose the correct option.
> Ad I o (o0 FlE 3% qg1 FHl ST

There is no negative marking for wrong answer.

1. ATETHT FT FFT FF § T FI9 781 8-

(a) STHST T FheAd (b) SATHET T AT

OEESEIREELLS (d) AFET FT TATIHTE

Which of the following is not the function of statistics?

(a) Collection of Data (b) Classification of Data

(c) Analysis of Data (d) Forecasting of Data
2. 9T AHST | FA =< T (FHI07 Tashl o 3297 | FqT 8, Tgl eqTH & —

(a) TF IeATEH (b) T faskar

(C) T IUNTIHT (d) T faqeorear

Shyam makes Furniture to sale, Shyam is here -

(a) A producer (b) A Seller

(c) A consumer (d) A distributor

3. HATHET €U FTA ATAT ATk HEATAT § —
(@) TUETHRTT (b) wEeTF

SIRAUS IIfSID 3Tofiellol Ud UfdIgIul ufyuq , et [FifseT use1 Ut | (2023-24) Page 1 of 9



(c) F=Tar (d) sfiTex
A person who collects Data is known as -
(a) Enumerator (b) Demonstrator
(c) Producer (d) Operator
4, TS AT § TgAT ST o6 99 g5 12

In which year the first census was done in independent India?

(a) 1950 (b) 1951
(c) 1953 (d) 1881

5. THT % ATATE AHI2d [T SITH ATl ATHES| o AV 10T Tl Fgd g —
(a) TR F(THT0T (b) FTATLH e AT
(C) ATATH T (d) TUTTeH ATy

Grouping of Data on the basis of time is known as -
(a) Spatial Classification (b) Chronological Classification

(c) Quantitative Classification (d) Qualitative Classification

6. et vt &1 wer-foig &1 719 A1 AT Srar @ —
(a) S A AT TAT 5 1 AT % AT 5T
(b) IF A HHT AT % 97 =T F S\ g
(c) Sg & HHT TAT [H a0 HAT o [UEHRA ZT
(d) Ig a1 =T AT 950 97 HHT 6 TR 51T

Mid-point of any class can be calculated by-

(a) the ratio of higher limit and lower limit of class

(b) the average of higher limit and lower limit of class

(c) the multiplication of higher limit and lower limit of class

(d) the addition of higher limit and lower limit of class

7. 9E H A g
(a) ATAFHAR T IATH T&A0TT T AATT
(b) SATFAH T ~IATH S0 o AT T HAL
(c) ~IATH TS ATAFHAR A&} o AT T AL
(d) ATERaH Ta ~IAqH T&A0T] T fred
What does Range mean? -
(a) Ratio of maximum and minimum observation
(b) Difference between maximum and minimum observation
(c) Difference between minimum and maximum observation
(d) Average of maximum and minimum observation
8. Iq AT & —
(a) U= T s (b) f3 fadrT s
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(REREEIREEIEEC} (CEIECIRIEIRE]
Pie Diagram is -
(a) Uni-dimension diagram (b) Bi-dimensional diagram
(c) Tri-dimensional diagram (d) Non dimensional diagram
9. sraq = o |Teaw | AT 6T ST AT B —
What can be found by Histogram?
(a) ATeT  mean (b) wFET=T median
(c) 9g<Th mode (d) 9719 range
10. 90 9@ § Fd I 100 TG AW | FeT S1aT &, SEH Ted# AW &7 $ier grav g—
Circle in a pie diagram is divided in 100 equal parts, the degree of each part is -
(a) 3.6° (b) 5°
(c) 1° (d) 36°
11.130 U SAiFET | TgAT T AT AT 1910 —
Calculate mode from the given data -
12, 15,17, 19, 23, 26, 6, 8, 12, 26, 51, 53, 26, 52
(a) 10 (b) 15
(c) 26 (d) 52
12.9q4F 98 A1 ¢ ST (U U AFST & Fiedl g -
Quartile is a measure which divides the data
(a) TT TET ORI F Into two equal parts
(b) &= sTaX 9T H Into three equal parts
(c) =TT FXTEX 9N # Into four equal part
(d) o= FXTET 9 ¥ Into five equal parts
13. Feferfea # & wrfeasr it us f&eraar i =t 872

Which of the following is one of the characteristics of median?

(a) T ATHST AT & AWM § TFATHorg wedt g

It divides the data into two equal parts.

(b) T ATHET T AT AW H FAATIOIT F2AT 2

It divides the data into four equal parts.

(c) TE AHET & =ILH AAN I¥ W9 FAT g

It depends upon the extreme values of data.

(d) SATHET | THAT ST qATTSH gl &
It has highest frequency in the data.
14. 9% S0 1T ATHST & 9L T TET FhiforT —

Calculate range from the following given data
20, 30, 40, 50, 150
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(a) 50 (b) 150
(c) 130 (d) 170
15. 799 & & 19 3w i SAF9T=aT i 7TT FLAT 82
Which of the following measures inequality of distribution?
(a) IETZAT 9% Frequency Curve (b) stttz Ogive
(c) AT a®  Lorenz curve (d) FZHEY I coefficient of correlation
16. 2T U sffeeT & ATHE-TA=E Y T i —

Calculate Standard Deviation from the following data

4,5,6,7,8
(@ 1 (b) 1.414
(c) 4.472 (d) 1.732

17. 9% = <7 =20 o 19 (o6 TohTE o Jgaad i q9rdr 872

The following diagram shows which type of correlation between two variables?

A

Y

X v

(@) g=TcH= g« (Positive correlation)

(b) Ut g=TeH® ggHed (Perfectly positive correlation)
(c) FEUITcH GgHaY (negative correlation)
(d) =T< Hggad gl (no correlation)

18. I a= AgHae UTT T 71T gIaTl g —

The value of Pearson’s coefficient correlation is
(@ 0 (b) +1
(c) -1 (d) +1 7 -1 % S=(Between +1 and -1
19. AT TAHT FIT ATIAT 872

What does Price Index measure?
() ST AW T TAAT H AT 99 hl Hiqdl | e qiaad

Average change in the price in current year in comparison to the base year
(b) ATATT Y sl TAAT | ST W T Al § SEq TaaT

Average change in the price in base year in comparison to  current year
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(C) ATLTT AY =l TAAT | ATHTT Y sl AT H AT Iaad

Average change in the quantity current year in comparison to base year

(d) FAATT Y T TAAT § AT qY T IcATEA H AT Taad

Average change in the production of base year in comparison to current year

20. 9T<T T o AT § 9 % &9 § g 719 &7 forzm Smar g -

In the Price Index of Paasche’s, which value is taken as weight-
(@) o (b) Py

©) @ (d) g0
21. 93 § Filg Ta TEATd SN HT (AahTd TEH g3 2-

When did Iron and Steel industry begin to develop in India?
(a) 18 & erdTsat & YA ¥ (in the beginning of 18th Century)
(b) 19 =T eraTeat & T@TY # (in the first half of 19t century)
(c) 19 =T eraTear & I H (in the latter half of 19th century)
(d) 20 =i oraTedt F IRT T (in the beginning of 20t century)

22. AT § SATTReh = FRHOT T T AT TR STafe sl JTAT SITAT ST 872

Which of the following period is known as the first stage of demographic transition in India?

(a) F 1921 & T4 (before 1921) (b) T 1921(Year 1921)

(c) & 1921 % == (after 1921) (d) 7 1922(Year 1922)
23. IRA T TP HAS § T 958 Gaas 9 ST 68 <97 | & T 872

The word “Five-year plan” in Indian National Planning is taken from which country?
(a) =T (America) (b) FATET (Canada)
(c) 7@ |rfaaa =4 (USSR) (d) W= France
24 I ATAT ST &-

Tariff is imposed-

(a) F¥q * IcaTeA 9¥ (on the production of goods)

(b) A== AT 9T (Inter-state trade)
(c) FH=Tefa a=qaT 9% (on exported goods)
(d) srATiaT aEgelt 9% on imported goods
25. 9Td ST 39T § T IARM Al THTed FA & FAT HILT &7 Tahd &2 Fel & TIRT Fd gU dgl
e &7 939 ity —

What should be the reason to promote small scale industries in India? Choose the correct

option by using given codes

1. frer ST o srareTehar

Requirement of less capital
2. AT TSETT &7 Goud F3d § qeq

Capable to generate more employment opportunities
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3. T IR & AT FTAeTeT Fied § FeI7
Capable to compete with large scale industries
(@ FaT1  (only 1) (b)yFaT2  (only 2)
(c)1Tar2 (1and?2) (d)1,2q9r 3 (1,2 and 3)
26. forsar AT |31 &7 T fohe Ay 3T =T 82
When was World Trade Organisation Established?
(a) 1945 (b) 1955
(c) 1965 (d) 1995
27. 7% afeie Afa-1991 & T ITAT &-
The three sub classes of New Economic Policy-1991 are-
(a) ST Liberalisation (b) fAstr=TT privatisation
(c) =fr=¥oT Globalisation (d) 3% T+ all the above
28. FAHTT | TAST & & [oI7 e SRl HE&AT 872

Number of industries reserved for public sector at present are industries of Public Sector in

present are
(a) 3 (b) 4
(c)5 (d) 6
29. AT FLFRTT o FreAT 7 srferanme srfarfaae =iy e 9 9y fhar?
In which year Govt. of India implemented Right to education act?
(a) 2006 (b) 2009
(c) 2011 (d) 2014
30. ard AT ATTTEAT % oY TANT FlA ATAT <27 AT ST 872

Which country is said to be best user of world knowledge economy?
(a) raTetE (Ireland) (b) AT (Norway)
(c) 7stiie (New Zealand) (d) ST (Japan)
31. 9199 ISit & F&H § H8 FHIT &l For 97 @G wi)
Consider the following assertion and reason regarding human capital.
FAF(A) - AT IS(T AF9T gt g1 Human capital is invisible.
FIOT(R) — T T & HIeath § THI-aH T 2l gl

It is inculcated in the mind of bearer.
ITH HAT AT HICE 6 Gael | I 97 (oo dgl 5?2

Which of the following options is correct regarding the above assertion and reason?
(a) Fasr A G5l g1 only A is right
(b) =t R @&t 81 only R is right
(c) AR R M A5l g qaT R, A Fit Tgl SATEAT FHdT gl
A and R both are correct and R explains A correctly
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(d) A #liT R T 981 & e R, A &l 2T 981 T 2
A and R both are correct but R is not the correct explanation of A
32. AT TS T Hael g-
Operation Flood is related to
(a) 39 % IcaTeA | the production of milk
(b) =T % IcqTET A the production of fish
() 3TTST % IcdTa | the production of grains
(d) e 3 3cqTa" | the production of fruits
33. AT oT-TH= WrenReht 1 dag =e 7 9 872

Eco friendly technology is related to

(a) FT & ST @TE % TIT & (use of bio-compost in farming)

(b) FT & T @1 & TIRT 7 (use of chemical fertilizer in farming)

(c) T H TATAF HeATefT & TN 7 (use of chemical pesticides in farming)
(d) FT & AT |@E i deaneft F v ¥ (farming without any fertilizer and

pesticides)

34, 9T § STTEraRter ATHHT F TSWIT &7 A7d A9 § T 797 872

What is the main source of employment for the labourers of India?

B RIRIEERE Primary sector (b) fa<t &= Secondary sector
(c) gt &1 Tertiary sector (d) b TF ¢ T both b and ¢
35. Ao Atz A & & 7 FigdATd 872

Construction workers are called-

(a) =T =gt ater s1f&= (workers of regular wages)

(b) FEETET worgdT ater =9 (daily wage workers)
(c) |TTSa &= AT ( workers of organised sector)
(d) ==-Frfora i@ (self-employed workers)

36. TATHLONT HHTLT FT TF 318 -
An example of renewable resources-

(a) a1 ¥ UE trees in forest (b) ¥z & #ARferAl fishes in sea
(c) aud b T bothaand b (d) StraTew T4+ fossil fuel
37. 5w e T 3e9T —

The objective of chipko movement is —
(a) TRUTST 9ad | aAT T HLEA HLAT

To conserve forests in the Himalayas
(b) TET TN | FAT FT HLETT FLAT
To conserve forests in coastal areas

(c) HaTHT &= | F1 T L& FLAT To conserve forests in plains
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(d) TBTET &= | F1 FT LT FAT To conserve forests in plateau areas
38. 3T ITUAT T THE HILT &-

The main reason of global warming is —
(a) TI=AT F ATATALOT § HET qTIHAT § ATz

Increase in average temperature on the Earth’s atmosphere
(b) HHF F ATATALOT § Ed ATIHE § g

Increase in average temperature in Ocean environment
(c) a7 foere=T Melting of glaciers
(d) i+ g« F=T § g5 Increase in Green House gases
39. <1+ & UTHIOT &A1 § Y 0 0 ‘Frg’ &7 dag Mo a1 g -
The ‘Commune’ started in the rural areas of China is related to -
(a) \TfE® @t & Collective farming
(b) @ % ATfE® H<& F F Collective conservation of forests
(c) T fe® =TI 7 Collective trade

(c) \TfE® 3=\ & Collective entrepreneurship
40. 979 TorshTe Teohdehl & ST 9 960 § F -7 397 TIH T 9T 872

On the basis of HDI which of the following country stands on the first place?
(a) 9¥a India (b) i+ China
(c) AT Nepal (d) uTferEaTe Pakistan
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HISA T T IAT Foit

Fra-11
[ELREERRILC]
qT [SRES a5 T [SALES
1 d 21 d
2 a 22 a
3 a 23 c
4 b 24 d
5 b 25 c
6 b 26 d
7 b 27 d
8 a 28 a
9 c 29 b
10 a 30 a
11 c 31 c
12 c 32 a
13 a 33 a
14 c 34 a
15 c 35 b
16 b 36 c
17 b 37 a
18 d 38 d
19 a 39 a
20 c 40 b
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SIRIAUS IfSIP 3fofieNrot ud ufdrgiur ufyerg , 2icit
a1t udien
HIST %1 U
351 : 2023-24

Dell- 11 fdwer- s

fdsiret

(Rlgtioad )

AII- 1 el QUIih- 40
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1.3 A= FT IReT FATE -
A) sTfee & stfd I8 a7
B) TITE SR &1 Y&l HIAT

C) UTHaTah Sitad &l 399 Ud 99
e quf a=mT

D)=t & Tfersh &« STHT AT

What is the purpose of Home
Science -

a) more and more home decor

b) Providing nutritious food

c) To make family life better and full
of comforts.

d) Earning more and more money.

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

2.378 To=T &1 19 SUART & -
A) FEFA TR 6 T

B) et faafzat & forw

C) TRET & FHT qa&41 & forw
D) foreft 3 form oft =11
Knowledge of Home Science is
useful -

a) Only for girls

b) only for married people

c) for all family members

d) Not for anyone.

3.99Y , THM 7 a0y T sraedr gl &-

A) FTeTaEAT
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B) SreraTaeT

C) fereTreraresT

D) SteraaT]

There is a state of struggle, storm
and opposition-

a) childhood

b) infancy

c) adolescence

d) adulthood.

4, TSTAHH 957 B-

A) SATET qToT F T

B) STHT 9THT T

C) SIUSIT STHT &7

D) f&at Tt =i

The word adolescence is-
a) Latin

b) German language

c) English language

d) Hindi language.

5. T4 3T o fahme % ooy F=ey -
INEIEELE EIE- s
B) I 3T T AIHIAT 9 &HAT I&al &

C) =aT=h =l ATAATSA, T X Fag< |

frdT T 2
D) Tie Teft TR |

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

[sifSet u%sl UsT | (2023-24)

As a result of development of sexual
organs -

a) sexual organs increase

b) The activity and capacity of sexual
organs increases.

c) There is a change in the person's
feelings, thinking and behavior.

d) all the above changes.

6. TTEfren fehererereT # fehen g1 STTa
g -

A) STHET

B) arfewelt

C) 3WT el

D) AT |

In early adolescence, adolescents
become -

a) introverted

b) extrovert

c) ambidextrous

d) Sunflower.

7. FRetrra=aT ¥ 35 TR & Henr T
ST & -
INSIERRIEIERIE IR I
B) ATHTT AT <R aTel

Ok ERIRERIESEIE ISR
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D) =¥ & I L |

What types of emotions are found in
adolescence -

a) having intense and uncontrollable
expressions

b) general expressions

c) low and controlled expression

d) none of these

8. "sraTeHs fas Y fohaAT sraemy
BT -

A) =T

B) o=

C) =

D) =Y

How many stages are there in
cognitive development?

a) two

b) three

c) five

d) four.

9. fereTTa®dT # =a|T T & 3T A9
& oI sraeT+ g -

A) STt & @A

B) fo=Tt & g

C) ATH&= TIT ATITATAF TTHIETAT
T T AT

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

D) sfa=rirar adtear ® afeafera g
It is necessary for proper choice of
occupation in adolescence -

a) Asking astrologers

b) ask friends

c) To know the opinion of the

Aptitude and Vocational Counselor
d) To appear in the competitive
examination.

10. FRamraeT § v T A s=a %

3T & -

A) TTITH HLAT

B) fa=m® &eAT

C) Fqfera 9ifee qoT Flg aav Ih
ST AT AT

D) 7+t IUTT seTaeT+ g

Measures to prevent anemia in
adolescence are -

a) to exercise

b) to rest

c) Eating a balanced nutritious and
iron-rich diet

d) All measures are unnecessary.
11, STVASTTT AT T3t o o sqE
T H A AT FHIH P g -

A) THTST T THT
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S EREURESII

C) STfa a7 &

DRRIERI

Which factor is mainly responsible for
innate individual variation?

a) influence of society

b) heredity

c) Caste and religion

d) Environment.

12. AR TH=dT &7 T HE0 ¢ -

A) STTATAFAT TAT TATAL

B) 9HTE0T TAT ATaq

C) STafrehar aT ==

D) #rad a7 44|

The main reason for individual
difference is -

a) heredity and environment
b) environment and habit

c) heredity and interest

d) Habits and values.

13. TheliT & e ® "gcaqor TRTe™
gHATE -

A) afE™

B) e

C) |t 998

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

[sifSet u%sl UsT | (2023-24)

D) =99 & T+ |

There is an important contribution in
the development of the adolescent -
a) family

b) arrangement

C) peer group

d) All of these.

14. FReTTaeT | fohene ue Fherrfat
T TSI T ATgU-

A) FETART

B) g

C) THT ITwe qedi ¥ AXqL 9T T8
HTAT ATAT

D EIERET
The diet of boys and girls during

adolescence should be-

a) spicy

b) digestible

c) rich and adequate in all nutrients
d) Attractive.

15. HieTy i feufa # -

A) HTEITIET 98 AT

B) ¥<h % ST &

C) ATHTHT Hashi | F€T i HAT THT &l

STt §
D) 91X it ATeo T 98 STt 8
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In case of obesity -

a) muscles increase

b) blood rises

c) The amount of fat gets
accumulated in the fatty tissues

d) The bones of the body increase.
16. gHITT T A8 T(dHd TS
TEAT ¢ -

A) FET I I

DELIE R R

O IEEIRCERES

D) T qRgHT 95 97|

Smoking has the most adverse effect
a) on the respiratory system

b) on the skeletal system

c) on the nervous system

d) On the blood circulation system.

17. SHH | AT 9T h9lIT STTe &7
L TET 2-

A) T

B) H=OTH

C) dIEhIE

D) AT # T qT T FT T

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

[sifSet u%sl UsT | (2023-24)

Which of the following is not a
characteristic of juvenile
delinquency?

a) theft

b) drinking

c) sabotage

d) Not being able to complete work in
class.

18. STt f9reT %71 99 =9 7 g

Hag 7 -

A) gE FSe o

B) B¢ aRaT &

C) ST it Forfa |

D) == & faefy 71 =1

What is population education mainly
related to?

a) through family planning

b) from a small family

c) by population status

d) None of these.

19. TATEST T AT & -
A) e

S EIRIGED

C) 9THTIor®

D) & TT|
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The dimension of health is -
a) physical

b) mental

c) social

d) All of these.

20. 9IS aF 75l -

A) T

B) FTaTeTEge

C) Efast &=

D) sTTeTe]

Nutritious elements are not-
a) protein

b) carbohydrates

c) mineral salts

d) Diet.

21. SIATH qIIT % AT g -
A) 9T T A FH T

B) T T Y

C) ari¥ T TRT ITa<res &Har &1 gH
T

D) ZH | H+1|

Symptoms of inadequate nutrition
are -

a) loss of body weight

b) anemia

c) Decrease in body's immunity

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

d) all of these

22. FSIT 3T HT ATAT IIUF A & -
A) FTETETEZE

B) Stet

C) gf= st ear

D) faerfaE|

The nutrient that produces energy is
a) carbohydrate

b) water

c) mineral salts

d) Vitamins.

23. FREATHT TTH TA &-

A) AT

B) FTaTeTz3e

C) @&t

D) farerfE|

Protective nutrient is-

a) food

b) carbohydrates

c) fat

d) Vitamins.

24, SIS ¥ FHY F Er AT T 2
A) THRET

B) ==T
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C) @1 T[T

D) Zatef|

The disease caused by iodine
deficiency is-

a) Scurvy

b) goitre

C) rickets

d) Night blindness.

25. AT T stfersh 9= § 9137 Siar §

A) 9T * AT |

B) #ag H

C) 7t

D) =% & g LI

Vitamin A is found in large quantities
in—

a) in spinach greens

b) in pumpkin

c) in radish

d) None of these

26. ST | faorT fEera 8-
A) faeTiae =1
B) faerfae <t
S RECIELRY
D) faeriae g

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

[sifSet u%sl UsT |

Water soluble vitamin is-
a) Vitamin C

b) Vitamin D

c) Vitamin A

d) Vitamin E.

27. g 91 § 97T ATAT % -
A) &

S ECIESAER

C) ¥t

D) = & F1E Tel|

Found in green leaves -

a) protein

b) Mineral salts

c) glucose

d) none of these

28. I H AT graT & -
A) T

B) Faerzge

C) wieT

D) fa=rfa=|

Milk does not contain -
a) protein

b) carbohydrates

c) iron

d) Vitamins.
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29. HMId ST T =77 -

A) T

B) @&

C) FrdteTzge

D) z=H & T+fi]|

An integral part of a balanced diet is-
a) protein

b) fat

c) carbohydrates

d) All of these.

30. TS T &=T AT RU-

A) Eree F g

B) e & ugel

C) Fled & a1

D) T T2l

Vegetables should be washed-
a) before peeling

b) before cutting

c) after cutting

d) never.

31. ST o HTEAH § THTAT AT AISH-
A) T 2T ST §

B) HIT= 2T ST €

C) AIT=T BT AT &

D) FaTfa® 2 STaT g

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

Food cooked through water-
a) gets rich

b) gets digested

c) becomes indigestible

d) becomes tastier

32. gTHETHF 918+ & -

A) TISTH T TS THTA

B) & g9

C) T+t IT=HTT

D) arfatia sraegsrarat £ afd 2q|

Family means -

a) food clothing and housing
b) wealth and property

c) all equipment

D) To meet the family needs.

33. FETYAT & TEFH ATH TTH FHLeA
T sreeT= ¢ -

A) FTET T ITAET F AT AATHT

B) HT&IT T 3= Terel ]

C) |TLT T Hi=a FeAT

D) & = T AT|

To get maximum benefit from
resources it is necessary to -

a) non-use of resources
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b) Making proper arrangements of
resources

c) accumulation of resources

d) Spend a lot.

34. faoi= wioraT T sraeThar 9=l & -
A) T2 aifRataat & AT |

B) =% ® fafers fufa sooer g9 o2

C) ST ATSATY, STHHTAT 2l

D) =8 & 7+t

Decision process requires —

a) In adjustment to new
circumstances

b) When a specific situation arises at
home

c) When plans are long term

d) all of these

35. FoTT Ta&H o Saild &aT= 11
3 :-

A) 2R T I T 79aT T

B) fatfer=r 1=t U g9 ATl Foll =47 T

C) 34w a1 &

D) 9H ¥ &% AT 78l

Under energy management, care

should be taken -

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il

a) of the person's own working
capacity

b) Energy expenditure on various
tasks

c) Both of the above

d) None of these.

36. FIATH & dq & oy Tera 8-

A) T TTFTF TG §

B) 7 &I 7 =1 §

C) 7 aTefd 79 &

D) g a& STANT 9 2

Which is wrong for cotton fibre?
a) Itis a natural fiber

b) These are protein fibers

c) It is vegetable fiber

d) This cloth is a useful fiber.
37. ATAATT A3 T (FATT rav & -
A) TETEfEE fafer g

B) =rifa= fafer g

C) «itfa=s fafer g

D) T8 ¥ #Is 71|

Nylon fibers are made from -

a) by chemical method
b) by mechanical method

c) by physical method
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d) none of these

38. &TT & | § 3l o q -
A) FE ST 8

B) T &1 I &

C) 7 &1 S1Td &

D) FIE TATE F5l 9=4dT]|

Wool fibers in contact with alkali -
a) get enhanced

b) get stronger

c) are destroyed

d) has no effect.

39. et & #iw |7 Afaa a= 2-
A) FTeH T

B) =X e

C) T

D) == & T+fi]|

Which of the following is a composite

fabric?

a) Coats Wool

b) terry silk

c) Terricourts

d) All of these.

40. ZETA FATS AT 98 § g7t fearg
Tl 2 -

A) et

B) et

C) faw=ht

D) FHTaITX

Stripes are seen in twill weave fabric

a) straight
b) round
c) oblique

d) curved

SIRXUS SNfSID 3foieol ud Uforsiur ufdug , il
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